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General Ability
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Group Id : 976755762
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General Ability
Section Id : 9767551192
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Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 9767551387
Question Shuffling Allowed : Yes
  
Question Number : 1 Question Id : 97675521825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Punit has a business of purchasing cryptocurrencies at a low rate and selling them when the price increases. Once he purchased 1 bitcoin for
₹12,500. Its value hiked by 28% in the first month he owned it. What was his bitcoin worth at the end of this first month?
Options :
1.  ₹3,500
2.  ₹5,320
3.  ₹16,000
4.  ₹19,000
  
Question Number : 1 Question Id : 97675521825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
पुनीत का कम दर पर ि��ोकर�सी खरीदने और बढ़ी कीमत पर उ�� बेचने का �वसाय है। एक बार उसने ₹12,500 म� 1 िबटकॉइन खरीदा। उसके �ारा इसे
खरीदे जाने के बाद पहले ही महीने इसके मू� म� 28% की वृ�� �ई। इस पहले महीने के अंत म� उसके िबटकॉइन की कीमत िकतनी थी?
Options :
1.  ₹3,500
2.  ₹5,320
3.  ₹16,000
4.  ₹19,000
  
Question Number : 2 Question Id : 97675521826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The total of the ages of 3 siblings Radhika, Rahul and Raman is 100 years. What was the total of their ages four years ago?
Options :
1.  86 years
2.  96 years
3.  88 years
4.  91 years
  
Question Number : 2 Question Id : 97675521826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
3 भाई-बहनो ंरािधका, रा�ल और रमन की आयु का योगफल 100 वष� है। चार वष� पहले उनकी आयु का योगफल िकतना था?
Options :
1.  86 वष�
2.  96 वष�
3.  88 वष�
4.  91 वष�
  
Question Number : 3 Question Id : 97675521827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



In a mathematics exam, a student got twice as many sums wrong as he got right. If he attempted 63 sums in all, how many did he solve correctly?
Options :
1.  18
2.  20
3.  21
4.  24
  
Question Number : 3 Question Id : 97675521827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गिणत की परी�ा म�, एक िव�ाथ� �ारा हल िकये गये सही ��ो ंकी अपे�ा दोगुने �� गलत थे। यिद उसने कुल 63 �� हल िकये थे, तो उसके �ारा सही हल िकये
गये �� िकतने थे?
Options :
1.  18
2.  20
3.  21
4.  24
  
Question Number : 4 Question Id : 97675521828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which two numbers should be interchanged to make the given equation correct?

3 × 30 ÷ 5 + 4 = 27
Options :
1.  3 and 4
2.  5 and 4
3.  3 and 5
4.  30 and 5
  
Question Number : 4 Question Id : 97675521828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िदए गए समीकरण को सही बनाने के िलए िकन दो सं�ाओ ंको आपस म� बदलना चािहए?

3 × 30 ÷ 5 + 4 = 27
Options :
1.  3 और 4
2.  5 और 4
3.  3 और 5
4.  30 और 5
  
Question Number : 5 Question Id : 97675521829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose that set of numbers from the four options which is similar to the given set logically 

Given set : (48, 12, 30)
Options :
1.  (44, 11, 33)
2.  (46, 23, 11)
3.  (40, 10, 15)
4.  (64, 16, 40)
  
Question Number : 5 Question Id : 97675521829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
चार िवक�ो ंम� से सं�ाओ ंके उस समु�य का चयन कर�  जो तािक� क �प से िदए गए समु�य के समान है।

(48, 12, 30)
Options :
1.  (44, 11, 33)
2.  (46, 23, 11)
3.  (40, 10, 15)
4.  (64, 16, 40)



  
Question Number : 6 Question Id : 97675521830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose that set of numbers from the four options which is similar to the given set logically 

Given set : (12 , 42, 25)
Options :
1.  (13, 40, 32)
2.  (18, 63, 46)
3.  (10, 35, 23)
4.  (16, 56, 40)
  
Question Number : 6 Question Id : 97675521830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए चार िवक�ो ंम� से सं�ाओ ंके उस समु�य का चयन कर�  जो तािक� क �प से िदए गए समु�य के समान है।

(12, 42, 25)

Options :
1.  (13, 40, 32)
2.  (18, 63, 46)
3.  (10, 35, 23)
4.  (16, 56, 40)
  
Question Number : 7 Question Id : 97675521831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If + means multiplication, ÷ means subtraction, x means division, and - means addition, then what is the value of the expression?

6 + 14 ÷ 7 - 43
Options :



1.  -35
2.  43
3.  120
4.  133
  
Question Number : 7 Question Id : 97675521831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यिद ‘+’ का अथ� ‘गुणा’, ‘÷’ का अथ� घटाना, ’×’ का अथ� ‘भाग’ और ‘–’ का अथ� ‘जोड़ना’ है, तो िन�िल�खत �ंजक का मान �ा होगा?

6 + 14 ÷ 7 - 43
Options :
1.  -35
2.  43
3.  120
4.  133
  
Question Number : 8 Question Id : 97675521832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Correct the given equation by interchanging any two numbers.

36 x 6 ÷ 2 + 5 - 3 = 75
Options :
1.  6, 2
2.  2, 3
3.  3, 5
4.  6, 3
  
Question Number : 8 Question Id : 97675521832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



िक�ी ंदो सं�ाओ ंको आपस म� बदलकर िदए गए समीकरण को सही कीिजए। 

36 × 6 ÷ 2 + 5 – 3 = 75
Options :
1.  6 और 2
2.  2 और 3
3.  3 और 5
4.  6 और 3
  
Question Number : 9 Question Id : 97675521833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Two expression will have the same value if two terms on the either side or on the same side are interchanged . Find the correct number to be
interchanged.

8 ÷ 3 -6 + 5 x 7 = 37 + 6 ÷ 4 - 8
Options :
1.  8, 4
2.  5, 8
3.  3, 4
4.  4, 7
  
Question Number : 9 Question Id : 97675521833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदये गये दोनो ं�ंजको ंका मान समान होगा, यिद एक तरफ या दोनो ंतरफ के दो पदो ंको पर�र �ित�थािपत कर िदया जाये। िवक�ो ंम� से पर�र �ित�थािपत
िकये जाने के िलए सही सं�ाओ ंको चुन�।

8 ÷ 3 – 6 + 5 × 7 = 37 + 6 ÷ 4 – 8
Options :
1.  8 और 4
2.  5 और 8
3.  3 और 4



4.  4 और 7
  
Question Number : 10 Question Id : 97675521834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many even number pages are there in a book of 1079 pages ?
Options :
1.  537
2.  538
3.  539
4.  540
  
Question Number : 10 Question Id : 97675521834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
1079 पृ�ो ंकी पु�क म� िकतने पृ� सम सं�ा वाले ह�?
Options :
1.  537
2.  538
3.  539
4.  540
  
Question Number : 11 Question Id : 97675521835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Bhoomi is a manager in a bank. She has currency notes of denomination ₹ 200, ₹ 20, and ₹ 5 respectively. The ratio of number of these notes is
3: 5: 8. The total cash in the bank is ₹ 740000. How many notes of ₹ 200 denomination does the bank have?
Options :
1.  1000
2.  3000
3.  5000
4.  8000



  
Question Number : 11 Question Id : 97675521835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भूिम एक ब�क म� मैनेजर है। उसके पास �मशः  ₹200, ₹20 और ₹5 मू�वग� के कर�सी नोट ह�। इन नोटो ंकी सं�ा का अनुपात 3: 5: 8 है। ब�क म� कुल नकद ₹
740000 है। ब�क के पास ₹ 200 मू�वग� के िकतने नोट ह�?
Options :
1.  1000
2.  3000
3.  5000
4.  8000
  
Question Number : 12 Question Id : 97675521836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Sunny is four times as old as Kunal. Eight years hence, Sunny will be twice the age of Kunal. How old is Kunal now?
Options :
1.  2 years
2.  4 years
3.  8 years
4.  16 years
  
Question Number : 12 Question Id : 97675521836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सनी की आयु कुणाल की आयु की चार गुना िजतनी है। अब से आठ वष� बाद, सनी की आयु कुणाल की आयु की दोगुनी होगी। वत�मान म� कुणाल िकतने वष� का
है?
Options :
1.  2 वष�
2.  4 वष�
3.  8 वष�
4.  16 वष�



  
Question Number : 13 Question Id : 97675521837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If in a particular year, 8th June was a Wednesday, then the first Wednesday in July of that year will fall on which date?
Options :
1.  4th July
2.  5th July
3.  6th July
4.  7th July
  
Question Number : 13 Question Id : 97675521837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यिद िकसी िवशेष वष� म�, 8 जून को बुधवार था, तो उस वष� जुलाई म� पहले बुधवार को कौन-सी तारीख होगी?
Options :
1.  4 जुलाई
2.  5 जुलाई
3.  6 जुलाई
4.  7 जुलाई
  
Question Number : 14 Question Id : 97675521838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Ravi has total ₹12,500 with him, He buys a phone 'S' at ₹10,000/- from this and sells it to another person making a profit of 25% on the same.
With all the money he has now, he buys another phone 'M' and sells the same to another person making a profit of 20% on it. What is the total
money Ravi has now?
Options :
1.  ₹12,500
2.  ₹15,000
3.  ₹18,000
4.  ₹20,000



  
Question Number : 14 Question Id : 97675521838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रिव के पास कुल ₹12,500 ह�। वह इसम� से ₹10,000 का फोन 'S' खरीदता है और उसी पर 25% का लाभ �ा� करने के िलए िकसी अ� ��� को बेचता है।
अब उसके पास िजतने भी पैसे ह�, उससे वह एक और फोन 'M' खरीदता है और उस पर 20% का लाभ �ा� करने के िलए इसे दूसरे ��� को बेचता है। रिव
के पास अब कुल िकतनी धनरािश है?
Options :
1.  ₹12,500
2.  ₹15,000
3.  ₹18,000
4.  ₹20,000
  
Question Number : 15 Question Id : 97675521839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  



2.  

3.  

4.  

  
Question Number : 15 Question Id : 97675521839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  



  
Question Number : 16 Question Id : 97675521840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 16 Question Id : 97675521840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 17 Question Id : 97675521841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If 7 - 7 = 51, 8 - 8 = 66, 9 - 9 = 83 then 10 - 10 =?
Options :
1.  104
2.  100
3.  102
4.  106
  
Question Number : 17 Question Id : 97675521841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
यिद 7 – 7 = 51, 8 – 8 = 66 और 9 – 9 = 83 है, तो 10 – 10 = ?
Options :
1.  104
2.  100
3.  102
4.  106
  
Question Number : 18 Question Id : 97675521842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many even numbered pages are there in a book of 2097 pages?
Options :
1.  1047
2.  1048
3.  1049
4.  1050
  
Question Number : 18 Question Id : 97675521842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
2097 पृ�ो ंकी पु�क म� िकतने सम सं�ा वाले पृ� ह�?
Options :
1.  1047
2.  1048
3.  1049
4.  1050
  
Question Number : 19 Question Id : 97675521843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Number 168 is 16 % of which number?



Options :
1.  1025
2.  1050
3.  1075
4.  1100
  
Question Number : 19 Question Id : 97675521843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सं�ा 168 िकस सं�ा का 16% है?
Options :
1.  1025
2.  1050
3.  1075
4.  1100
  
Question Number : 20 Question Id : 97675521844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sum of the ages of a mother and a daughter is 104 years and the ratio between their ages is 5 : 3. What is the age of the mother?
Options :
1.  60 years
2.  48 years
3.  65 years
4.  59 years
  
Question Number : 20 Question Id : 97675521844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक माँ और एक बेटी की आयु का योग 104 साल है और उनकी आयु का अनुपात 5 : 3 है। माँ की आयु िकतनी है?
Options :



1.  60 साल
2.  48 साल
3.  65 साल
4.  59 साल
  
  

General Awareness
Group Number : 2
Group Id : 976755763
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General Awareness
Section Id : 9767551193
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551388
Question Shuffling Allowed : Yes
  
Question Number : 21 Question Id : 97675521845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In May 2020, the World Bank approved ______ package for India’s urban poor and migrant workers during the coronavirus crisis.
Options :
1.  $0.5 Billion
2.  $1 Billion
3.  $2 Billion
4.  $2.5 Billion
  
Question Number : 21 Question Id : 97675521845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
मई 2020 म�, िव� ब�क ने कोरोनोवायरस संकट के दौरान भारत के शहरी गरीबो ंऔर �वासी �िमको ंके िलए ______ पैकेज को मंजूरी दी है।
Options :
1.  $0.5 िबिलयन
2.  $1 िबिलयन
3.  $2 िबिलयन
4.  $2.5 िबिलयन
  
Question Number : 22 Question Id : 97675521846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the maximum insurance provided for bank deposits, as per the Union budget 20-21?
Options :
1.  ₹ 1 lakh
2.  ₹ 5 lakhs
3.  ₹ 3 lakhs
4.  ₹ 6 lakhs
  
Question Number : 22 Question Id : 97675521846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



क� �ीय बजट 20-21 के अनुसार, ब�क जमा के िलए अिधकतम िकतना बीमा �दान िकया गया है?
Options :
1.  ₹ 1 लाख
2.  ₹ 5 लाख
3.  ₹ 3 लाख
4.  ₹ 6 लाख
  
Question Number : 23 Question Id : 97675521847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who was the first Indian to win a medal in shooting at the Olympics?
Options :
1.  Abhinav Bindra
2.  Leander Paes
3.  Sushil Kumar
4.  Rajyavardhan Singh Rathore
  
Question Number : 23 Question Id : 97675521847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ओलंिपक म� िनशानेबाजी म� पदक जीतने वाले पहले भारतीय कौन थे?
Options :
1.  अिभनव िबं�ा
2.  िलएंडर पेस
3.  सुशील कुमार
4.  रा�वध�न िसंह राठौड़
  
Question Number : 24 Question Id : 97675521848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The All India Muslim League was founded in the year:



Options :
1.  1905
2.  1904
3.  1907
4.  1906
  
Question Number : 24 Question Id : 97675521848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अ�खल भारतीय मु��म लीग की �थापना िकस वष� �ई थी?
Options :
1.  1905
2.  1904
3.  1907
4.  1906
  
Question Number : 25 Question Id : 97675521849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who was the first Indian to be elected as the Speaker of the Central Legislative Assembly in the year 1925?
Options :
1.  Sachidanand Sinha
2.  Vithalbhai J Patel
3.  GV Mavalankar
4.  Ananthasayanam Ayyangar
  
Question Number : 25 Question Id : 97675521849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
वष� 1925 म� क� �ीय िवधान सभा के अ�� (Speaker) के �प म� चुने जाने वाले पहले भारतीय कौन थे?
Options :
1.  स��दानंद िस�ा



2.  िव�लभाई जे. पटेल
3.  जी.वी. मावलंकर
4.  अनंथसायनम आयंगर
  
Question Number : 26 Question Id : 97675521850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Aam Aadmi Party was formed in the year ______.
Options :
1.  2010
2.  2011
3.  2012
4.  2013
  
Question Number : 26 Question Id : 97675521850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आम आदमी पाट� की �थापना वष� ______ म� �ई थी।
Options :
1.  2010
2.  2011
3.  2012
4.  2013
  
Question Number : 27 Question Id : 97675521851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A Non-Banking Financial Company (NBFC) is:
Options :
1.  a part of a bank performing non-banking activities
2.  a company registered under the Companies Act, 1956



3.  a part of RBI which deals with non-banking functions
4.  a part of State Governments that deal with non-banking activities
  
Question Number : 27 Question Id : 97675521851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक गैर-ब��िकंग िव�ीय कंपनी (NBFC) ______।
Options :
1.  गैर-ब��िकंग गितिविधयो ंका �दश�न करने वाला ब�क का एक अंग है।
2.  कंपनी अिधिनयम, 1956 के तहत पंजीकृत एक कंपनी है।
3.  RBI का एक भाग है, जो गैर-ब��िकंग काय� से संबंिधत है।
4.  रा� सरकार का एक अंग है, जो गैर-ब��िकंग गितिविधयो ंसे संबंिधत है।
  
Question Number : 28 Question Id : 97675521852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Ghoomar is a folk dance from ______.
Options :
1.  Manipur
2.  Uttar Pradesh
3.  Chhattisgarh
4.  Rajasthan
  
Question Number : 28 Question Id : 97675521852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
घूमर __________ की एक लोक नृ� शैली है।
Options :
1.  मिणपुर
2.  उ�र �देश
3.  छ�ीसगढ़



4.  राज�थान
  
Question Number : 29 Question Id : 97675521853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who among the following was the first Indian to be invited to perform at the prestigious Lincoln Centre Hall in the United States of America?
Options :
1.  Ustad Zakir Hussain
2.  Ravi Shankar
3.  M.S. Subulakshmi
4.  Ustad Bismillah Khan
  
Question Number : 29 Question Id : 97675521853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन वह पहला भारतीय था िजसे संयु� रा� अमे�रका के �िति�त िलंकन स�टर हॉल म� �दश�न करने के िलए आमंि�त िकया गया था?
Options :
1.  उ�ाद ज़ािकर �सैन
2.  पंिडत रिव शंकर
3.  एम. एस. सु�ुल�ी
4.  उ�ाद िब���ाह खान
  
Question Number : 30 Question Id : 97675521854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which fort complex stands amidst wooded hills overlooking the Delhi-Jaipur highway, with its forbidding ramparts reflected in the still waters of
the Maota Lake below?
Options :
1.  Gagron Fort
2.  Chittor Fort
3.  Amer Fort
4.  Jaigarh Fort



  
Question Number : 30 Question Id : 97675521854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िद�ी-जयपुर राजमाग� पर जंगली पहािड़यो ंके बीच कौन-सा दुग� ��थत है, िजसकी दुग� �ाचीर नीचे मावठा झील के शांत जल म� प�रलि�त होती है?
Options :
1.  गागरोन दुग�
2.  िच�ौड़ दुग�
3.  आमेर दुग�
4.  जयगढ़ दुग�
  
Question Number : 31 Question Id : 97675521855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
2011 की भारत की जनगणना के अनुसार, भारत की जनसं�ा िकतनी है?
Options :
1.  लगभग 119 करोड़
2.  लगभग 125 करोड़
3.  लगभग 121 करोड़
4.  लगभग 123 करोड़
  
Question Number : 31 Question Id : 97675521855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is India’s population according to Census of India 2011?
Options :
1.  Approximately 119 crores
2.  Approximately 125 crores
3.  Approximately 121 crores
4.  Approximately 123 crores
  



Question Number : 32 Question Id : 97675521856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect?

If an object sinks in water means-
Options :
1.  The density of the object is more that of the density of water
2.  The upthrust of water on the object is less than the weight of the object
3.  The upthrust of water on the object is more than the weight of the object
4.  The density of the water is less that of the density of object
  
Question Number : 32 Question Id : 97675521856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा कथन गलत है?

यिद कोई व�ु पानी म� डूब जाती है, तो इसका अथ� है िक ___________।
Options :
1.  व�ु का घन� जल के घन� से अिधक है
2.  व�ु पर जल का उ�ावन व�ु के वजन से कम है
3.  व�ु पर जल का उ�ावन व�ु के वजन से अिधक है
4.  जल का घन� व�ु के घन� से कम है
  
Question Number : 33 Question Id : 97675521857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Water is considered hard when the pH level is ______.
Options :
1.  Below 7
2.  Above 7
3.  Above 7.5



4.  Above 8.5
  
Question Number : 33 Question Id : 97675521857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
pH �र ______ होने पर जल को कठोर माना जाता है।
Options :
1.  7 से कम
2.  7 से ऊपर
3.  7.5 से ऊपर
4.  8.5 से ऊपर
  
Question Number : 34 Question Id : 97675521858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Gypsum cement is a mixture of lime, sand and ______.
Options :
1.  Sodium hydroxide
2.  Calcium carbonate
3.  Sodium Nitrate
4.  Calcium Nitrate
  
Question Number : 34 Question Id : 97675521858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िज�म सीम�ट चूने, रेत और ______ का िम�ण है।
Options :
1.  सोिडयम हाइड� ॉ�ाइड
2.  कै��शयम काब�नेट
3.  सोिडयम नाइट� ेट
4.  कै��शयम नाइट� ेट



  
Question Number : 35 Question Id : 97675521859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who was the Founder of Indian association?
Options :
1.  Anie Besant
2.  Surrendra Nath Banerjee
3.  Bal Gangadhar Tilak
4.  A.O. Hume
  
Question Number : 35 Question Id : 97675521859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय संघ के सं�थापक कौन थे/थी?
Options :
1.  एनी बेस�ट
2.  सुर�� नाथ बनज�
3.  बाल गंगाधर ितलक
4.  ए.ओ. ह्यूम
  
Question Number : 36 Question Id : 97675521860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following states has the highest literacy rate among the Scheduled Tribe Population according to Census of India 2011?
Options :
1.  Gujarat
2.  West Bengal
3.  Rajasthan
4.  Madhya Pradesh
  
Question Number : 36 Question Id : 97675521860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत की जनगणना 2011 के अनुसार िन�िल�खत म� से िकस रा� की अनुसूिचत जनजाित की जनसं�ा म� सा�रता दर सबसे अिधक है?
Options :
1.  गुजरात
2.  पि�म बंगाल
3.  राज�थान
4.  म� �देश
  
Question Number : 37 Question Id : 97675521861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following festivals is celebrated as the Telugu New Year in the month of April?
Options :
1.  Brahmotsavam
2.  Visakha
3.  Lumbini
4.  Ugadi
  
Question Number : 37 Question Id : 97675521861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा पव� अ�ैल महीने म� तेलुगु नव वष� के �प म� मनाया जाता है?
Options :
1.  ��ो�वम
2.  िवशाखा
3.  लु��नी
4.  उगादी
  
Question Number : 38 Question Id : 97675521862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The historic Battle of Haldighati took place in which year?
Options :
1.  1576
2.  1577
3.  1579
4.  1600
  
Question Number : 38 Question Id : 97675521862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ह�ीघाटी का ऐितहािसक यु� िकस वष� �आ था?
Options :
1.  1576
2.  1577
3.  1579
4.  1600
  
Question Number : 39 Question Id : 97675521863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Amendment of the Constitution provided a Constitutional status to the Panchayati Raj Institutions in India?
Options :
1.  73rd Amendment
2.  79th Amendment
3.  89th Amendment
4.  96th Amendment
  
Question Number : 39 Question Id : 97675521863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय संिवधान म� िन� म� से कौन-सा संशोधन, भारत म� पंचायती राज सं�थाओ ंको एक संवैधािनक दजा� �दान करता है?



Options :
1.  73वाँ संशोधन
2.  79वाँ संशोधन
3.  89वाँ संशोधन
4.  96वाँ संशोधन
  
Question Number : 40 Question Id : 97675521864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The famous Barabati Stadium is located at ______.
Options :
1.  Ahemdabad
2.  Chennai
3.  Cuttack
4.  New Delhi
  
Question Number : 40 Question Id : 97675521864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�िस� बाराबती �ेिडयम ________ म� ��थत है।
Options :
1.  अहमदाबाद
2.  चे�ई
3.  कटक
4.  नई िद�ी
  
  

Arithmetic Ability
Group Number : 3
Group Id : 976755764
Group Maximum Duration : 0



Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

Arithmetic Ability
Section Id : 9767551194
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551389
Question Shuffling Allowed : Yes
  
Question Number : 41 Question Id : 97675521865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  



3.  

4.  

  
Question Number : 41 Question Id : 97675521865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 42 Question Id : 97675521866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  



3.  

4.  

  
Question Number : 42 Question Id : 97675521866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 43 Question Id : 97675521867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  



3.  

4.  

  
Question Number : 43 Question Id : 97675521867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 44 Question Id : 97675521868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  



3.  

4.  

  
Question Number : 44 Question Id : 97675521868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 45 Question Id : 97675521869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  



3.  

4.  

  
Question Number : 45 Question Id : 97675521869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 46 Question Id : 97675521870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  



4.  

  
Question Number : 46 Question Id : 97675521870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 47 Question Id : 97675521871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  



  
Question Number : 47 Question Id : 97675521871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 48 Question Id : 97675521872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  



  
Question Number : 48 Question Id : 97675521872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 49 Question Id : 97675521873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  



  
Question Number : 49 Question Id : 97675521873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 50 Question Id : 97675521874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 50 Question Id : 97675521874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 51 Question Id : 97675521875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 51 Question Id : 97675521875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 52 Question Id : 97675521876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 52 Question Id : 97675521876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 53 Question Id : 97675521877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 53 Question Id : 97675521877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 54 Question Id : 97675521878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 54 Question Id : 97675521878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 55 Question Id : 97675521879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 55 Question Id : 97675521879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 56 Question Id : 97675521880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 56 Question Id : 97675521880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 57 Question Id : 97675521881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 57 Question Id : 97675521881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 58 Question Id : 97675521882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 58 Question Id : 97675521882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 59 Question Id : 97675521883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 59 Question Id : 97675521883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
Question Number : 60 Question Id : 97675521884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1.  

2.  

3.  

4.  

  
Question Number : 60 Question Id : 97675521884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Options :

1.  

2.  

3.  

4.  

  
  

General English
Group Number : 4
Group Id : 976755765
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General English
Section Id : 9767551195
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 9767551390
Question Shuffling Allowed : Yes
  
Question Number : 61 Question Id : 97675521885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct spelling from the options given below:
Options :
1.  Bureaucracy
2.  Bureaucracie
3.  Bureucracy
4.  Bureaucraciy
  
Question Number : 61 Question Id : 97675521885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct spelling from the options given below:
Options :
1.  Bureaucracy
2.  Bureaucracie
3.  Bureucracy
4.  Bureaucraciy
  
Question Number : 62 Question Id : 97675521886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the INCORRECTLY spelt word from the given options.
Options :
1.  Advertisement 
2.  Argument 
3.  Equipment 



4.  Achievment 
  
Question Number : 62 Question Id : 97675521886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the INCORRECTLY spelt word from the given options.
Options :
1.  Advertisement 
2.  Argument 
3.  Equipment 
4.  Achievment 
  
Question Number : 63 Question Id : 97675521887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

Mathematical science of figures and shapes
Options :
1.  Geology
2.  Geography
3.  Geometry
4.  Arithmetic
  
Question Number : 63 Question Id : 97675521887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

Mathematical science of figures and shapes
Options :
1.  Geology
2.  Geography



3.  Geometry
4.  Arithmetic
  
Question Number : 64 Question Id : 97675521888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom:

'Behind the scenes' 
Options :
1.  Openly
2.  Timidly
3.  Secretly
4.  Publicly
  
Question Number : 64 Question Id : 97675521888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom:

'Behind the scenes' 
Options :
1.  Openly
2.  Timidly
3.  Secretly
4.  Publicly
  
Question Number : 65 Question Id : 97675521889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase:

'At hand'



Options :
1.  Away
2.  Large
3.  Near
4.  Far
  
Question Number : 65 Question Id : 97675521889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase:

'At hand'
Options :
1.  Away
2.  Large
3.  Near
4.  Far
  
Question Number : 66 Question Id : 97675521890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below: 

Stately
Options :
1.  Distinguished
2.  Political
3.  Central
4.  Leadership
  
Question Number : 66 Question Id : 97675521890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Select the word which is closest in meaning to the word given below: 

Stately
Options :
1.  Distinguished
2.  Political
3.  Central
4.  Leadership
  
Question Number : 67 Question Id : 97675521891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with correct option given below.

It would be foolish of Rajesh not to seek his teacher’s guidance as he is very weak ______ English.
Options :
1.  at
2.  in
3.  of
4.  towards
  
Question Number : 67 Question Id : 97675521891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with correct option given below.

It would be foolish of Rajesh not to seek his teacher’s guidance as he is very weak______ English.
Options :
1.  at
2.  in
3.  of
4.  towards
  



Question Number : 68 Question Id : 97675521892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph: 

S1. The hall was nicely decorated.
P. Everywhere the guests were seen talking to each other.
Q. But, it seemed that the guests were not interested in the servings. 
R. The attendants were serving drinks to all. 
S. They were, in fact, eagerly waiting for the President to arrive. 
S6. And lo! Finally he arrived there.
Options :
1.  RQSP
2.  PSQR
3.  PRQS
4.  SPRQ
  
Question Number : 68 Question Id : 97675521892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph: 

S1. The hall was nicely decorated.
P. Everywhere the guests were seen talking to each other.
Q. But, it seemed that the guests were not interested in the servings. 
R. The attendants were serving drinks to all. 
S. They were, in fact, eagerly waiting for the President to arrive. 
S6. And lo! Finally he arrived there.
Options :
1.  RQSP
2.  PSQR
3.  PRQS
4.  SPRQ



  
Question Number : 69 Question Id : 97675521893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph: 

S1. The door was closed from inside. 
P. But after a few seconds, a terrible cry shattered the silence. 
Q. Initially no sound was heard. 
R. The Prince moved in the direction of the cry. 
S. It seemed to be some damsel in distress. 
S6. And what he saw was very horrible.
Options :
1.  RQPS
2.  RSQP
3.  QRPS
4.  QPSR
  
Question Number : 69 Question Id : 97675521893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph: 

S1. The door was closed from inside. 
P. But after a few seconds, a terrible cry shattered the silence. 
Q. Initially no sound was heard. 
R. The Prince moved in the direction of the cry. 
S. It seemed to be some damsel in distress. 
S6. And what he saw was very horrible.
Options :
1.  RQPS
2.  RSQP
3.  QRPS



4.  QPSR
  
Question Number : 70 Question Id : 97675521894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the given sentence, identify the segment which contains grammatical error.

The detective asked the suspect/ whether would he/ admit his crime/ against the victim.
Options :
1.  The detective asked the suspect
2.  whether would he
3.  admit his crime
4.  against the victim
  
Question Number : 70 Question Id : 97675521894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the given sentence, identify the segment which contains grammatical error.

The detective asked the suspect/ whether would he/ admit his crime/ against the victim.
Options :
1.  The detective asked the suspect
2.  whether would he
3.  admit his crime
4.  against the victim
  
Question Number : 71 Question Id : 97675521895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’. 

If they had known that their mother was sick they have taken care of her.
Options :



1.  would have taken
2.  would take
3.  would be taking
4.  No improvement
  
Question Number : 71 Question Id : 97675521895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’. 

If they had known that their mother was sick they have taken care of her.
Options :
1.  would have taken
2.  would take
3.  would be taking
4.  No improvement
  
Question Number : 72 Question Id : 97675521896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’. 

In recent years advancement in modern technology affected the lifestyles of people.
Options :
1.  were affected
2.  has affected
3.  are affecting
4.  No improvement
  
Question Number : 72 Question Id : 97675521896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’. 



In recent years advancement in modern technology affected the lifestyles of people.
Options :
1.  were affected
2.  has affected
3.  are affecting
4.  No improvement
  
Question Number : 73 Question Id : 97675521897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

The subject Economics are given much importance these days.
Options :
1.  were given
2.  have been given
3.  is given
4.  No improvement
  
Question Number : 73 Question Id : 97675521897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

The subject Economics are given much importance these days.
Options :
1.  were given
2.  have been given
3.  is given
4.  No improvement
  
Question Number : 74 Question Id : 97675521898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the given sentence, identify the segment which contains grammatical error.

Now-a-days the youngsters hardly don’t work hard like the people in olden days.
Options :
1.  Now-a-days the youngsters
2.  hardly don’t work hard
3.  like the people
4.  in olden days
  
Question Number : 74 Question Id : 97675521898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the given sentence, identify the segment which contains grammatical error.

Now-a-days the youngsters hardly don’t work hard like the people in olden days.
Options :
1.  Now-a-days the youngsters
2.  hardly don’t work hard
3.  like the people
4.  in olden days
  
Question Number : 75 Question Id : 97675521899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below: 

Scandal
Options :
1.  Fact
2.  Honour
3.  Gossip



4.  Speculation
  
Question Number : 75 Question Id : 97675521899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below: 

Scandal
Options :
1.  Fact
2.  Honour
3.  Gossip
4.  Speculation
Sub-Section Number : 2
Sub-Section Id : 9767551391
Question Shuffling Allowed : Yes
  
Question Id : 97675521900 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (76 to 80)
Read the given passage and answer the questions based on it.

Rajasthan is known for many things, especially for its rich history, grand palaces, stories of kings and queens, and delicious cuisine. But, very
few are aware of the underground library that Rajasthan hides, deep in the Thar Desert. Yes, a hidden library, which is also one of Asia’s biggest
and has over 900000 books!
The library is built in the Bhadariya village of Pokaran Tehsil in Jaisalmer district of Rajasthan. This unique treasure trove in the Thar region has
the capacity to seat 4000 people at once, which makes it one of the biggest libraries in Asia.
What makes it unique is the fact that it is built 16 ft under the ground and, because of its location, the library remains cool even during hot and
humid summers.
The library was built by Harbansh Singh Nirmal, who himself was an avid reader. The collection of the library consists of books from different
regions of the world. There are thousands of books that were gifted to him on various occasions by people.
According to the residents of the village, Harbansh Singh Nirmal stayed in the library for several years and read almost all the books there. The
books present in the library range from Science and Astronomy to Astrology and History. One can also find dictionaries, atlases and epics inside
this treasure trove.
This bibliotheca features 562 glass shelves, where all the books are well-preserved and are made available to scholars and learners, who come
here from all over the world for research and learning purposes.



This place is a bibliophile’s dream come true and must be visited by every book lover. Now, the library is being looked after by the villagers and
the temple devotees
Sub questions
 
Question Number : 76 Question Id : 97675521901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT mentioned as Rajasthan’s well-known things?
Options :
1.  Legends about the royalty
2.  Magnificent royal residences
3.  Rich language
4.  Exquisite food
 
Question Number : 77 Question Id : 97675521902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘deep in the Thar Desert’ — what does ‘deep’ mean in this context?
Options :
1.  Bottomless
2.  Intense
3.  Underground
4.  Distant
 
Question Number : 78 Question Id : 97675521903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of these statements about the library is true?
Options :
1.  The library was exclusively meant for the royal family.
2.  There is a very wide range of books in this library.
3.  It is difficult to preserve old and rare books in this library.
4.  This library becomes very humid during the summer months.



 
Question Number : 79 Question Id : 97675521904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of these statements about Harbansh Singh Nirmal is NOT true according to the passage?
Options :
1.  He was a voracious reader.
2.  He had an extensive range of interests.
3.  He received many books as gifts.
4.  He did research on varied topics.
 
Question Number : 80 Question Id : 97675521905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements does NOT apply to this library?
Options :
1.  It can be easily spotted from far.
2.  All the books are arranged on glass shelves. 
3.  There is a lot of material for research work.
4.  It is cool without being humid in the summer months.
  
Question Id : 97675521900 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (76 to 80)
Read the given passage and answer the questions based on it.

Rajasthan is known for many things, especially for its rich history, grand palaces, stories of kings and queens, and delicious cuisine. But, very
few are aware of the underground library that Rajasthan hides, deep in the Thar Desert. Yes, a hidden library, which is also one of Asia’s biggest
and has over 900000 books!
The library is built in the Bhadariya village of Pokaran Tehsil in Jaisalmer district of Rajasthan. This unique treasure trove in the Thar region has
the capacity to seat 4000 people at once, which makes it one of the biggest libraries in Asia.
What makes it unique is the fact that it is built 16 ft under the ground and, because of its location, the library remains cool even during hot and
humid summers.
The library was built by Harbansh Singh Nirmal, who himself was an avid reader. The collection of the library consists of books from different
regions of the world. There are thousands of books that were gifted to him on various occasions by people.



According to the residents of the village, Harbansh Singh Nirmal stayed in the library for several years and read almost all the books there. The
books present in the library range from Science and Astronomy to Astrology and History. One can also find dictionaries, atlases and epics inside
this treasure trove.
This bibliotheca features 562 glass shelves, where all the books are well-preserved and are made available to scholars and learners, who come
here from all over the world for research and learning purposes.
This place is a bibliophile’s dream come true and must be visited by every book lover. Now, the library is being looked after by the villagers and
the temple devotees
Sub questions
 
Question Number : 76 Question Id : 97675521901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT mentioned as Rajasthan’s well-known things?
Options :
1.  Legends about the royalty
2.  Magnificent royal residences
3.  Rich language
4.  Exquisite food
 
Question Number : 77 Question Id : 97675521902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘deep in the Thar Desert’ — what does ‘deep’ mean in this context?
Options :
1.  Bottomless
2.  Intense
3.  Underground
4.  Distant
 
Question Number : 78 Question Id : 97675521903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of these statements about the library is true?
Options :



1.  The library was exclusively meant for the royal family.
2.  There is a very wide range of books in this library.
3.  It is difficult to preserve old and rare books in this library.
4.  This library becomes very humid during the summer months.
 
Question Number : 79 Question Id : 97675521904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of these statements about Harbansh Singh Nirmal is NOT true according to the passage?
Options :
1.  He was a voracious reader.
2.  He had an extensive range of interests.
3.  He received many books as gifts.
4.  He did research on varied topics.
 
Question Number : 80 Question Id : 97675521905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements does NOT apply to this library?
Options :
1.  It can be easily spotted from far.
2.  All the books are arranged on glass shelves. 
3.  There is a lot of material for research work.
4.  It is cool without being humid in the summer months.
  
  

General Hindi
Group Number : 5
Group Id : 976755766
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No



Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General Hindi
Section Id : 9767551196
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551392
Question Shuffling Allowed : Yes
  
Question Number : 81 Question Id : 97675521906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकसान के पास एक बछड़ा और एक ______ है। �र��थान की पूित� 'बछड़ा' के �ीिलंग �प से कर�। 
Options :
1.  बछिड़या
2.  ब�ी
3.  बछड़ी
4.  बिछया
  
Question Number : 81 Question Id : 97675521906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



िकसान के पास एक बछड़ा और एक ______ है। �र��थान की पूित� 'बछड़ा' के �ीिलंग �प से कर�। 
Options :
1.  बछिड़या
2.  ब�ी
3.  बछड़ी
4.  बिछया
  
Question Number : 82 Question Id : 97675521907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा यु� सही नही ंहै?
Options :
1.  गाय - गाय�
2.  िलिप - िलिपयाँ
3.  नारी - ना�रओं
4.  बादल - बादलों
  
Question Number : 82 Question Id : 97675521907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा यु� सही नही ंहै?
Options :
1.  गाय - गाय�
2.  िलिप - िलिपयाँ
3.  नारी - ना�रओं
4.  बादल - बादलों
  
Question Number : 83 Question Id : 97675521908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
संभा� भिव�त काल का उिचत उदाहरण है-



Options :
1.  तुम ने गाया होगा।
2.  संभव है, रमेश कल आए।
3.  वह आया हो।
4.  शायद कल वषा� �ई थी।
  
Question Number : 83 Question Id : 97675521908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
संभा� भिव�त काल का उिचत उदाहरण है-
Options :
1.  तुम ने गाया होगा।
2.  संभव है, रमेश कल आए।
3.  वह आया हो।
4.  शायद कल वषा� �ई थी।
  
Question Number : 84 Question Id : 97675521909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'रा�ल ने मेहनत की होती तो वह अव� उ�ीण� हो जाता।' वा� म� वृि� का भेद है-
Options :
1.  िन�याथ�
2.  संभावनाथ�
3.  संदेहाथ�
4.  संकेताथ�
  
Question Number : 84 Question Id : 97675521909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'रा�ल ने मेहनत की होती तो वह अव� उ�ीण� हो जाता।' वा� म� वृि� का भेद है-
Options :



1.  िन�याथ�
2.  संभावनाथ�
3.  संदेहाथ�
4.  संकेताथ�
  
Question Number : 85 Question Id : 97675521910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'यह किवता जयशंकर �साद ने रची है।' वा� का सवा�िधक उपयु� कम�वा� है-
Options :
1.  यह किवता जयशंकर �साद �ारा नही ंरची जा सकती।
2.  जयशंकर �साद ने यह किवता रची है।
3.  जयशंकर �साद किवता नही ंरच सकते ह�।
4.  यह किवता जयशंकर �साद �ारा रची गई है।
  
Question Number : 85 Question Id : 97675521910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'यह किवता जयशंकर �साद ने रची है।' वा� का सवा�िधक उपयु� कम�वा� है-
Options :
1.  यह किवता जयशंकर �साद �ारा नही ंरची जा सकती।
2.  जयशंकर �साद ने यह किवता रची है।
3.  जयशंकर �साद किवता नही ंरच सकते ह�।
4.  यह किवता जयशंकर �साद �ारा रची गई है।
  
Question Number : 86 Question Id : 97675521911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'मुकेश ने गीत गाया।' '�ोता भाव–िवभोर हो गए।' इन वा�ो ंसे बना सवा�िधक उपयु� सरल वा� है-
Options :
1.  जब मुकेश ने गीत गाया तब �ोता भाव–िवभोर हो गए।



2.  जैसे ही मुकेश ने गीत गाया वैसे ही �ोता भाव–िवभोर हो गए।
3.  मुकेश के गीत गाते ही �ोता भाव-िवभोर हो गए।
4.  मुकेश ने गीत गाया और �ोता भाव–िवभोर हो गए।
  
Question Number : 86 Question Id : 97675521911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'मुकेश ने गीत गाया।' '�ोता भाव–िवभोर हो गए।' इन वा�ो ंसे बना सवा�िधक उपयु� सरल वा� है-
Options :
1.  जब मुकेश ने गीत गाया तब �ोता भाव–िवभोर हो गए।
2.  जैसे ही मुकेश ने गीत गाया वैसे ही �ोता भाव–िवभोर हो गए।
3.  मुकेश के गीत गाते ही �ोता भाव-िवभोर हो गए।
4.  मुकेश ने गीत गाया और �ोता भाव–िवभोर हो गए।
  
Question Number : 87 Question Id : 97675521912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
म��न ेएक छोटे से ब�े को रोते �ए देखा। इस वा� का सवा�िधक उपयु� संयु� वा� है-
Options :
1.  म��न ेएक छोटे से ब�े को देखा और वह ब�ा रो रहा था।
2.  म��न ेिजस छोटे से ब�े को देखा, वह रो रहा था।
3.  वह ब�ा जो रो रहा है और उसे म��न ेदेखा था।
4.  जैसे ही वह ब�ा रोने लगा, म��न ेउसे देख िलया।
  
Question Number : 87 Question Id : 97675521912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
म��न ेएक छोटे से ब�े को रोते �ए देखा। इस वा� का सवा�िधक उपयु� संयु� वा� है-
Options :
1.  म��न ेएक छोटे से ब�े को देखा और वह ब�ा रो रहा था।
2.  म��न ेिजस छोटे से ब�े को देखा, वह रो रहा था।



3.  वह ब�ा जो रो रहा है और उसे म��न ेदेखा था।
4.  जैसे ही वह ब�ा रोने लगा, म��न ेउसे देख िलया।
  
Question Number : 88 Question Id : 97675521913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जैसे ही �ेता शहर गई, एक कंपनी म� काम करने लगी। रचना के आधार पर वा� का भेद है-
Options :
1.  संकेतवाचक वा�
2.  िविधवाचक वा�
3.  संयु� वा�
4.  िमि�त वा�
  
Question Number : 88 Question Id : 97675521913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जैसे ही �ेता शहर गई, एक कंपनी म� काम करने लगी। रचना के आधार पर वा� का भेद है-
Options :
1.  संकेतवाचक वा�
2.  िविधवाचक वा�
3.  संयु� वा�
4.  िमि�त वा�
  
Question Number : 89 Question Id : 97675521914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस वा� म� उिचत िवराम–िच�ो ंका �योग �आ है?
Options :
1.  अ�ापक ने कहा, "स� बोलना, सबसे बड़ा धम� है।"
2.  अ�ापक ने कहा - ''स� बोलना 'सबसे बड़ा' धम� है"।
3.  अ�ापक ने कहा, "स� बोलना सबसे बड़ा धम� है।"



4.  अ�ापक ने कहा - "स� बोलना सबसे बड़ा धम� है"।
  
Question Number : 89 Question Id : 97675521914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस वा� म� उिचत िवराम–िच�ो ंका �योग �आ है?
Options :
1.  अ�ापक ने कहा, "स� बोलना, सबसे बड़ा धम� है।"
2.  अ�ापक ने कहा - ''स� बोलना 'सबसे बड़ा' धम� है"।
3.  अ�ापक ने कहा, "स� बोलना सबसे बड़ा धम� है।"
4.  अ�ापक ने कहा - "स� बोलना सबसे बड़ा धम� है"।
  
Question Number : 90 Question Id : 97675521915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गीदड़ का �ीिलंग �प िल�खए।
Options :
1.  गीदड़नी
2.  गीदिड़या
3.  गीदड़ा
4.  गीदड़ीन
  
Question Number : 90 Question Id : 97675521915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गीदड़ का �ीिलंग �प िल�खए।
Options :
1.  गीदड़नी
2.  गीदिड़या
3.  गीदड़ा
4.  गीदड़ीन



  
Question Number : 91 Question Id : 97675521916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
म�म पु�ष के उदाहरण बताइए।
Options :
1.  तुम, तु��
2.  म�, हम
3.  वह, वे
4.  मेरा, हमारा
  
Question Number : 91 Question Id : 97675521916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
म�म पु�ष के उदाहरण बताइए।
Options :
1.  तुम, तु��
2.  म�, हम
3.  वह, वे
4.  मेरा, हमारा
  
Question Number : 92 Question Id : 97675521917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ीिलंग श� नही ंहै-
Options :
1.  प�ी
2.  चील
3.  जोकं
4.  बटेर
  



Question Number : 92 Question Id : 97675521917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ीिलंग श� नही ंहै-
Options :
1.  प�ी
2.  चील
3.  जोकं
4.  बटेर
  
Question Number : 93 Question Id : 97675521918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंभ �ोतक सहायक प�यु� वा� है-
Options :
1.  वह सोया रहता है।
2.  वह खा चुका है।
3.  वह जाने वाला है।
4.  वह जाने लगा है।
  
Question Number : 93 Question Id : 97675521918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंभ �ोतक सहायक प�यु� वा� है-
Options :
1.  वह सोया रहता है।
2.  वह खा चुका है।
3.  वह जाने वाला है।
4.  वह जाने लगा है।
  
Question Number : 94 Question Id : 97675521919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उ�रणिच� का उिचत �योग िकस िवक� म� �आ है?
Options :
1.  "भारतभारती"
2.  "भय िबनु होइ न �ीित" - तुलसीदास
3.  "कबीर और तुलसीदास"
4.  जग�ाथदास "र�ाकर"
  
Question Number : 94 Question Id : 97675521919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उ�रणिच� का उिचत �योग िकस िवक� म� �आ है?
Options :
1.  "भारतभारती"
2.  "भय िबनु होइ न �ीित" - तुलसीदास
3.  "कबीर और तुलसीदास"
4.  जग�ाथदास "र�ाकर"
  
Question Number : 95 Question Id : 97675521920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सा िवक� अशु� है?
Options :
1.  यह उ� कोिट का �� है।
2.  ��ेक �िमक को दो-दो �पये िमले।
3.  वहाँ की जलवायु मेरे अनु�प नही ंथी।
4.  �ेमचंद ने गोदान की रचना की है।
  
Question Number : 95 Question Id : 97675521920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सा िवक� अशु� है?
Options :
1.  यह उ� कोिट का �� है।
2.  ��ेक �िमक को दो-दो �पये िमले।
3.  वहाँ की जलवायु मेरे अनु�प नही ंथी।
4.  �ेमचंद ने गोदान की रचना की है।
Sub-Section Number : 2
Sub-Section Id : 9767551393
Question Shuffling Allowed : Yes
  
Question Id : 97675521921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (96 to 100)
िन�िल�खत ग�ांश के आधार पर ��ो ंके सही उ�र दीिजए।

��� और समाज दो अलग-अलग चीज� नही ंह�। दोनो ंएक–दूसरे के पूरक ह�। � य��यो ंसे िमलकर उनके िहतो ंके िलए समाज बनता है। खुद � य�� ही समाज
बनाता है। परंतु देखने म� यह आता है िक � य�� अपने को समाज से अलग इकाई मानता है। समाज अलग-थलग रह जाता है। � य�� का िवकास या पतन
समाज का िवकास अथवा पतन नही ंरह जाता है। जब इस तरह की भावना या िवचार जोर पकड़ता है, तब न � य�� का िवकास हो पाता है और न समाज का।
समाज का मतलब है िक हम पर� पर सहयोग करते �ए साथ-साथ रहने की कला म� िनरंतर िवकास करते जाए। हम सबसे � थािपत हो ंऔर सब हमसे � थािपत
हो।ं हम और तुम के बीच कोई रेखा नही ंरह जाए। जब तक इस िदशा की ओर उ� मुख नही ंहोगें, तब तक हमारे हर �कार के �यास बेकार िस� होगें। जीना एक
कला है, एक िवचार है। सबके साथ कैसे िजए, आज सीखना है। आज इसी का अ� यास करना है।
Sub questions
 
Question Number : 96 Question Id : 97675521922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस �कार के िवचार से � य�� और समाज का िवकास नही ंहो पाता?
Options :
1.  पार� पा�रक सहयोग के िवचार से
2.  िवकास और पतन के संबंध से
3.  � य�� का िवकास या पतन समाज का िवकास या पतन नही ंरह जाने से



4.  � य�� और समाज के िवकास और पतन के िवचार से
 
Question Number : 97 Question Id : 97675521923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
हम सबसे � थािपत हो ंऔर सब हमसे � थािपत हो।ं इस वा� य का � या ता� पय� है?
Options :
1.  हम सब िमलकर काय� कर�  और सबको हम अपने म� अनुभव कर�।
2.  हम सब एक िदशा म� काम कर�  और कुछ दूसरी िदशा म� काम कर�।
3.  � य�� और समाज दोनो ंअपने िहसाब से काम कर�।
4.  हम अपने � वाथ� के िलए दूसरो ंसे िमलकर काम कर�  और वे भी अपने िहत के िलए दूसरो ंसे िमलकर काम कर�।
 
Question Number : 98 Question Id : 97675521924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
हम� � या अ� यास करना चािहए?
Options :
1.  सबके िहत अिहत करने का अ� यास
2.  अपकारी � य�� के साथ संबंध और उपकारी � य�� के साथ संबंध न रखने का अ� यास
3.  � य�� त का िवकास और समाज की हािन करने का अ� यास
4.  सबके साथ िमलकर जीने का अ� यास
 
Question Number : 99 Question Id : 97675521925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
��� और समाज के स�भ� म� कौन-सा िवक� सही है?
Options :
1.  समाज को बनाने म� � य�� की कोई भूिमका नही ंहै।
2.  दोनो ंएक–दूसरे के पूरक ह�।
3.  दोनो ंअलग चीज� ह�।
4.  पर� पर सहयोग नही ंकरना, यह समाज का उ�े� है।
 



Question Number : 100 Question Id : 97675521926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस ग�ांश का उिचत शीष�क चुिनए।
Options :
1.  सहयोग की भावना
2.  � य�� और समाज
3.  समाज म� उ� थान – पतन
4.  समाज से िश�ा
  
Question Id : 97675521921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (96 to 100)
िन�िल�खत ग�ांश के आधार पर ��ो ंके सही उ�र दीिजए।

��� और समाज दो अलग-अलग चीज� नही ंह�। दोनो ंएक–दूसरे के पूरक ह�। � य��यो ंसे िमलकर उनके िहतो ंके िलए समाज बनता है। खुद � य�� ही समाज
बनाता है। परंतु देखने म� यह आता है िक � य�� अपने को समाज से अलग इकाई मानता है। समाज अलग-थलग रह जाता है। � य�� का िवकास या पतन
समाज का िवकास अथवा पतन नही ंरह जाता है। जब इस तरह की भावना या िवचार जोर पकड़ता है, तब न � य�� का िवकास हो पाता है और न समाज का।
समाज का मतलब है िक हम पर� पर सहयोग करते �ए साथ-साथ रहने की कला म� िनरंतर िवकास करते जाए। हम सबसे � थािपत हो ंऔर सब हमसे � थािपत
हो।ं हम और तुम के बीच कोई रेखा नही ंरह जाए। जब तक इस िदशा की ओर उ� मुख नही ंहोगें, तब तक हमारे हर �कार के �यास बेकार िस� होगें। जीना एक
कला है, एक िवचार है। सबके साथ कैसे िजए, आज सीखना है। आज इसी का अ� यास करना है।
Sub questions
 
Question Number : 96 Question Id : 97675521922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस �कार के िवचार से � य�� और समाज का िवकास नही ंहो पाता?
Options :
1.  पार� पा�रक सहयोग के िवचार से
2.  िवकास और पतन के संबंध से
3.  � य�� का िवकास या पतन समाज का िवकास या पतन नही ंरह जाने से
4.  � य�� और समाज के िवकास और पतन के िवचार से
 



Question Number : 97 Question Id : 97675521923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
हम सबसे � थािपत हो ंऔर सब हमसे � थािपत हो।ं इस वा� य का � या ता� पय� है?
Options :
1.  हम सब िमलकर काय� कर�  और सबको हम अपने म� अनुभव कर�।
2.  हम सब एक िदशा म� काम कर�  और कुछ दूसरी िदशा म� काम कर�।
3.  � य�� और समाज दोनो ंअपने िहसाब से काम कर�।
4.  हम अपने � वाथ� के िलए दूसरो ंसे िमलकर काम कर�  और वे भी अपने िहत के िलए दूसरो ंसे िमलकर काम कर�।
 
Question Number : 98 Question Id : 97675521924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
हम� � या अ� यास करना चािहए?
Options :
1.  सबके िहत अिहत करने का अ� यास
2.  अपकारी � य�� के साथ संबंध और उपकारी � य�� के साथ संबंध न रखने का अ� यास
3.  � य�� त का िवकास और समाज की हािन करने का अ� यास
4.  सबके साथ िमलकर जीने का अ� यास
 
Question Number : 99 Question Id : 97675521925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
��� और समाज के स�भ� म� कौन-सा िवक� सही है?
Options :
1.  समाज को बनाने म� � य�� की कोई भूिमका नही ंहै।
2.  दोनो ंएक–दूसरे के पूरक ह�।
3.  दोनो ंअलग चीज� ह�।
4.  पर� पर सहयोग नही ंकरना, यह समाज का उ�े� है।
 
Question Number : 100 Question Id : 97675521926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
इस ग�ांश का उिचत शीष�क चुिनए।
Options :
1.  सहयोग की भावना
2.  � य�� और समाज
3.  समाज म� उ� थान – पतन
4.  समाज से िश�ा
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Question Shuffling Allowed : Yes
  
Question Number : 101 Question Id : 97675521927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The term 'law' with reference to Article 13 (3) (a) of the Constitution of India is NOT applicable to which of the following?
Options :
1.  Ordinance
2.  Bye laws
3.  Constitutional amendments
4.  Notification
  
Question Number : 101 Question Id : 97675521927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत के संिवधान के अनु�ेद 13 (3) (a) के संदभ� म� 'िविध (law)' श� िन�िल�खत म� से िकस पर लागू नही ंहोता है?
Options :
1.  अ�ादेश (Ordinance)
2.  उप-िविध (Bye laws)
3.  संवैधािनक संशोधन (Constitutional amendments)
4.  अिधसूचना (Notification)
  
Question Number : 102 Question Id : 97675521928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the subject matter of Article 16(6) which was inserted into the Constitution of India, vide 103rd Constitutional (Amendment) Act, 2019?
Options :
1.  Reservation in promotion
2.  Reservation for other backward classes
3.  Requirement as to residency
4.  Reservation for economically weaker section
  



Question Number : 102 Question Id : 97675521928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
103व� संवैधािनक (संशोधन) अिधिनयम, 2019 के ज�रए भारत के संिवधान म� शािमल िकए गए अनु�ेद 16(6) की िवषय-व� तु �ा है?
Options :
1.  पदो�� � त म� आर�ण
2.  अ� िपछड़ा वग� के िलए आर�ण
3.  िनवास के संबंध म� आव�कता
4.  आिथ�क �प से कमजोर वग� के िलए आर�ण
  
Question Number : 103 Question Id : 97675521929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Constitution of India consists of how many Schedules?
Options :
1.  10
2.  11
3.  12
4.  13
  
Question Number : 103 Question Id : 97675521929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत के संिवधान म� िकतनी अनुसूिचयां ह�?
Options :
1.  10
2.  11
3.  12
4.  13
  
Question Number : 104 Question Id : 97675521930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
According to Article 66 of the Constitution of India, the Vice President of India is elected by the members of electoral college consisting of
_______.
Options :
1.  members of Lok Sabha
2.  members of both Houses of Parliament
3.  members of both Houses of Parliament and members of Legislative Assemblies of States
4.  members of both Houses of Parliament and members of legislative Councils of States
  
Question Number : 104 Question Id : 97675521930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत के संिवधान के अनु�ेद 66 के अनुसार, भारत के उपरा�� पित का चुनाव ______ से िमलकर बने िनवा�चक मंडल के सद�ो ं�ारा िकया जाता है।
Options :
1.  लोकसभा के सद�ों
2.  संसद के दोनो ंसदनो ंके सद�ों
3.  संसद के दोनो ंसदनो ंके सद�ो ंऔर रा�ो ंकी िवधान सभाओ ंके सद�ों
4.  संसद के दोनो ंसदनो ंके सद�ो ंऔर रा�ो ंकी िवधान प�रषदो ंके सद�ों
  
Question Number : 105 Question Id : 97675521931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Article 78 of the Constitution of India deals with the:
Options :
1.  Conduct of business of Government of India
2.  Attorney-General of India
3.  Duty of Prime Minister to communicate and furnish information to the President
4.  Appointment of Prime Minister
  
Question Number : 105 Question Id : 97675521931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



भारत के संिवधान का अनु�ेद 78 ______ से संबंिधत है।
Options :
1.  भारत सरकार के कामकाज के संचालन
2.  भारत के महा�ायवादी
3.  रा�� पित को सूचना देने और �� तुत करने के �धान मं�ी के कत��
4.  �धानमं�ी की िनयु��
  
Question Number : 106 Question Id : 97675521932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Part IX -B of the Constitution of India regarding the co-operative societies was inserted vide:
Options :
1.  100th Amendment
2.  97th Amendment
3.  101st Amendment
4.  74th Amendment
  
Question Number : 106 Question Id : 97675521932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सहकारी सिमितयो ंके संबंध म� भारत के संिवधान का भाग IX-B िकसके �ारा जोड़ा गया था?
Options :
1.  100व� संशोधन
2.  97व� संशोधन
3.  101व� संशोधन
4.  74व� संशोधन
  
Question Number : 107 Question Id : 97675521933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Provision of Article 124-A relating to the National Judicial Appointment Commission was declared unconstitutional by the Supreme Court of



India in which of the following judgements?
Options :
1.  Markandey Katju vs. Lok Sabha (2017) 2 SCC 384
2.  Supreme Court Advocates on Record Assn. vs. Union of India (2016) 5 SCC 1
3.  Manohar Lal Sharma vs. Union of India (2017) 11 SCC 731
4.  CS Karnan, In re (2017) 7 SCC 1
  
Question Number : 107 Question Id : 97675521933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रा�� ीय �ाियक िनयु�� आयोग से संबंिधत अनु�ेद 124-A के �ावधान को भारत के उ� चतम �ायालय �ारा िन�िल�खत म� से िकस िनण�य म� असंवैधािनक
घोिषत िकया गया था?
Options :
1.  माक� डेय काटजू बनाम लोकसभा (2017) 2 SCC 384
2.  सु�ीम कोट� एडवोकेट्स ऑन �रकॉड� एसोिसएशन बनाम भारत संघ (2016) 5 SCC 1
3.  मनोहर लाल शमा� बनाम भारत संघ (2017) 11 SCC 731
4.  सी.एस. कण�न, In re (2017) 7 SCC 1
  
Question Number : 108 Question Id : 97675521934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In re Special Court Bill 1978 (1979) 1 SCC 380, the Supreme Court of India has observed that the:
Options :
1.  opinion of the Supreme Court under advisory jurisdiction will be binding on parliament
2.  opinion of the Supreme Court under advisory jurisdiction will be binding on the Government of India
3.  opinion of the Supreme Court under advisory jurisdiction will be binding on Supreme Court itself
4.  opinion of the Supreme Court under advisory jurisdiction will be binding on all the courts in India under Article 141
  
Question Number : 108 Question Id : 97675521934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िवशेष �ायालय िवधेयक 1978 (1979) 1 SCC 380 म�, भारत के उ� चतम �ायालय ने िवचार � य� त िकया है िक ______।



Options :
1.  सलाहकार अिधका�रता के तहत उ� चतम �ायालय की राय संसद पर आब�कर होगी
2.  सलाहकार अिधका�रता के तहत उ� चतम �ायालय की राय भारत सरकार पर आब�कर होगी
3.  सलाहकार अिधका�रता के तहत उ� चतम �ायालय की राय उ� चतम �ायालय पर ही आब�कर होगी
4.  सलाहकार अिधका�रता के तहत उ� चतम �ायालय की राय अनु�ेद 141 के तहत भारत म� सभी अदालतो ंपर आब�कर होगी
  
Question Number : 109 Question Id : 97675521935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Constitution of India, select the correct pairing of Articles and the subject matter.
Options :
1.  Article 218 - Oath or affirmation by Judges of High Court
2.  Article 219 - Oath or affirmation by Judges of High Court
3.  Article 222 - Appointment of additional and acting judges of High court
4.  Article 224 - Transfer of Judges from one High Court to another
  
Question Number : 109 Question Id : 97675521935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत के संिवधान के संदभ� म�, अनु� छेदो ंऔर िवषय व�ु के सही यु�न का चयन कर�।
Options :
1.  अनु�ेद 218 - उ� �ायालय के �ायाधीशो ं�ारा शपथ या �ित�ान
2.  अनु�ेद 219 - उ� �ायालय के �ायाधीशो ं�ारा शपथ या �ित�ान
3.  अनु�ेद 222 - उ� �ायालय के अपर और काय�कारी �ायाधीशो ंकी िनयु��
4.  अनु�ेद 224 - �ायाधीशो ंका एक उ� �ायालय से दूसरे उ� �ायालय म� �थानांतरण
  
Question Number : 110 Question Id : 97675521936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Special provision with respect to the State of Nagaland has been provided in which of the following Articles of the Constitution of India?
Options :



1.  Article 371
2.  Article 371-C
3.  Article 371-A
4.  Article 371-B
  
Question Number : 110 Question Id : 97675521936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नागाल�ड रा� के संबंध म� िवशेष �ावधान भारत के संिवधान के िन�िल�खत म� से िकस अनु�ेद म� �दान िकया गया है?
Options :
1.  अनु�ेद 371
2.  अनु�ेद 371-C
3.  अनु�ेद 371-A
4.  अनु�ेद 371-B
  
Question Number : 111 Question Id : 97675521937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which of the following cases the Supreme Court observed that Articles 21,39(e), (f), 41 and 42 are meant to ensure a life with human dignity?
Options :
1.  Common Cause vs. Union of India (2018 ) SCC Online SC 208
2.  Danial Latifi vs. Union of India (2001)7 SCC 740
3.  Bandhua Mukti Morch vs. Union of India (1991)4 SCC 117
4.  State of Tamil Nadu vs. K Balu (2017) 2 SCC 281
  
Question Number : 111 Question Id : 97675521937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस मामले म� उ� चतम �ायालय ने कहा िक अनु�ेद 21,39(e), (f), 41 और 42 मानव स� मान के साथ जीवन सुिनि�त करने के िलए ह�?
Options :
1.  सामा� य मामला बनाम भारत संघ (2018) SCC ऑनलाइन SC 208



2.  डेिनयल लतीफी बनाम भारत संघ (2001)7 SCC 740
3.  बंधुआ मु�� मोचा� बनाम भारत संघ (1991)4 SCC 117
4.  तिमलनाडु रा� बनाम के. बालू (2017) 2 SCC 281
  
Question Number : 112 Question Id : 97675521938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
As per the Indian Penal Code, 1860, when two or more persons agree to do an act that is NOT illegal by illegal means, such an agreement is
called ______.
Options :
1.  abetment
2.  criminal conspiracy
3.  sedition
4.  conspiracy
  
Question Number : 112 Question Id : 97675521938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय दंड संिहता, 1860 के अनुसार, जब दो या दो से अिधक ��� एक ऐसा काय� करने के िलए सहमत होते ह� जो अवैध तरीके से अवैध नही ंहै, तो ऐसे
करार को ______ कहा जाता है।
Options :
1.  दु� �ेरण
2.  आपरािधक षडयं�
3.  राज�ोह
4.  षड़यं�
  
Question Number : 113 Question Id : 97675521939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A shake his fist at Z, intending or knowing it to be likely that he may thereby cause Z to believe that A is about to strike. With reference to the
Indian Penal Code, 1860, what offence, if any, has A committed?
Options :



1.  Assault
2.  Criminal force
3.  Hurt
4.  A has committed no offence
  
Question Number : 113 Question Id : 97675521939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A इस आशय से या यह जानते �ए िक यह संभा� है िक वह Z को यह िव�ास िदला सकता है िक A �हार करने वाला है, Z पर अपना मु� का तानता है। भारतीय
दंड संिहता, 1860 के संदभ� म�, A ने कौन-सा अपराध, यिद कोई हो तो, िकया है?
Options :
1.  हमला (Assault)
2.  आपरािधक बल
3.  उपहित (Hurt)
4.  A ने कोई अपराध नही ंिकया है।
  
Question Number : 114 Question Id : 97675521940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to Section 376 DB of the Indian Penal Code, 1860 (As amended), any person or persons found guilty of rape of a women under
_______ shall be punished with life imprisonment or death.
Options :
1.  12 years of age
2.  16 years of age
3.  14 years of age
4.  18 years of age
  
Question Number : 114 Question Id : 97675521940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय दंड संिहता, 1860 (यथा संशोिधत) की धारा 376 DB के अनुसार, ______ की िकसी मिहला के बला�ार के दोषी पाए जाने वाले िकसी भी ��� या
���यो ंको आजीवन कारावास या मौत की सजा दी जाएगी।



Options :
1.  12 वष� से कम उ�
2.  16 वष� से कम उ�
3.  14 वष� से कम उ�
4.  18 वष� से कम उ�
  
Question Number : 115 Question Id : 97675521941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
As per the Indian Penal Code, 1860, which of the following is NOT a grievous hurt?
Options :
1.  Dislocation of bone
2.  Emasculation
3.  Causing infirmity
4.  Privation of any member
  
Question Number : 115 Question Id : 97675521941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय दंड संिहता, 1860 के अनुसार, िन�िल�खत म� से कौन-सी एक गंभीर उपहित (hurt) नही ंहै?
Options :
1.  ह�ी की �थान�ुित (Dislocation of bone)
2.  िवपंुसन (Emasculation)
3.  शैिथ� य होना (Causing infirmity)
4.  िकसी भी अंग का िव� छेद (Privation of any member)
  
Question Number : 116 Question Id : 97675521942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 296 of the Indian Penal Code, 1860 deals with which of the following offences?
Options :



1.  Keeping lottery office
2.  Disturbing religious assembly
3.  Obscene acts and songs
4.  Trespassing on burial place
  
Question Number : 116 Question Id : 97675521942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय दंड संिहता, 1860 की धारा 296 िन�िल�खत म� से िकस अपराध से संबंिधत है?
Options :
1.  लॉटरी काया�लय रखना
2.  धािम�क सभा को भंग करना
3.  अ�ील हरकत� और गाने
4.  कि�� तान पर अित�मण
  
Question Number : 117 Question Id : 97675521943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Indian Penal Code, 1860, select the correct pairing of Section and the subject matter from the given options.
Options :
1.  Section 100 - Right to private defence of body and property
2.  Section 99 - Acts against which no right to private defence
3.  Section 98 - Right to private defence of body extends to causing death
4.  Section 97 - Commencement and continuance of right to private defence
  
Question Number : 117 Question Id : 97675521943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय द� संिहता, 1860 के स�भ� म� िदए गए िवक�ो ंम� से धारा और िवषय व�ु के सही यु� का चयन कीिजए।
Options :
1.  धारा 100 - शरीर और संपि� की िनजी �ितर�ा का अिधकार



2.  धारा 99 - ऐसे काय� िजनके िव�� िनजी �ितर�ा का अिधकार नही ंहै
3.  धारा 98 - शरीर की िनजी �ितर�ा का अिधकार मृ�ु का�रत करने तक िव� ता�रत है
4.  धारा 97 – िनजी �ितर�ा के अिधकार का �ारंभ और जारी रहना
  
Question Number : 118 Question Id : 97675521944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to Section 65 of the Indian Penal Code, 1860, the term for which the court directs the offender to be imprisoned in default of payment
of fine shall NOT exceed _______ of the term of imprisonment, which is maximum fixed for the offence if the offence is punishable with
imprisonment as well as fine.
Options :
1.  one-tenth
2.  one-fourth
3.  one-third
4.  one-sixth
  
Question Number : 118 Question Id : 97675521944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय दंड संिहता, 1860 की धारा 65 के अनुसार, िजस अविध के िलए अदालत अपराधी को जुमा�ना अदा करने म� चूक करने पर कारावास का िनद�श देती है,
वह कारावास की अविध के ______ से अिधक नही ंहोनी चािहए, जो िक अपराध के िलए िनधा��रत अिधकतम अविध है, यिद अपराध कारावास के साथ-साथ
जुमा�ने से भी दंडनीय है।
Options :
1.  दसव� भाग
2.  एक चौथाई
3.  एक ितहाई
4.  छठव� भाग
  
Question Number : 119 Question Id : 97675521945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following cases is known as the 'Nirbhaya Case'?



Options :
1.  Mukesh and Anr. vs. State for NCT Delhi (2017) 6 SCC 1
2.  Vishaka Ors. vs. State of Rajasthan (1997) 6 SCC 241
3.  Laxmi vs. Union of India (2014) 4SCC 427
4.  Abbas Ali vs. State of Rajasthan (2007) 2 SCC 129
  
Question Number : 119 Question Id : 97675521945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस मामले को 'िनभ�या केस' के नाम से जाना जाता है?
Options :
1.  मुकेश और अ� य बनाम रा� ट� ीय राजधानी �े� िद�ी रा� (2017) 6 SCC 1
2.  िवशाखा अ� य बनाम राज�थान रा� (1997) 6 SCC 241
3.  ल�ी बनाम भारत संघ (2014) 4 SCC 427
4.  अ�ास अली बनाम राज�थान रा� (2007) 2 SCC 129
  
Question Number : 120 Question Id : 97675521946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Any negligent act which is likely to spread infection of diseases dangerous to life is punishable under Section ____ of the Indian Penal Code,
1860.
Options :
1.  271
2.  269
3.  272
4.  273
  
Question Number : 120 Question Id : 97675521946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कोई भी लापरवाहीपूण� कृ� य, िजससे जीवन के िलए खतरनाक बीमा�रयो ंका सं�मण फैलने की संभावना है, भारतीय दंड संिहता, 1860 की धारा ______ के
तहत दंडनीय है।



Options :
1.  271
2.  269
3.  272
4.  273
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Question Number : 121 Question Id : 97675521947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A finds a valuable ring in the park, not knowing to whom it belongs. A sells it immediately without attempting to discover the owner. What
offence, if any, A has committed under the Indian Penal Code, 1860?
Options :
1.  A has not committed any offence.
2.  A is guilty of dishonest mis-appropriation of property.
3.  A is guilty of theft.
4.  A is guilty of criminal breach of trust.
  
Question Number : 121 Question Id : 97675521947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A को पाक�  म� एक मू�वान अंगूठी िमलती है, उसे पता नही ंहै िक वह अंगूठी िकसकी है। A मािलक को खोजने का �यास िकए िबना इसे तुरंत बेच देता है।
भारतीय दंड संिहता, 1860 के तहत A ने कौन-सा अपराध, यिद कोई हो तो, िकया है?
Options :
1.  A ने कोई अपराध नही ंिकया है।
2.  A संपि� के बेईमानी से दुिव�िनयोग का दोषी है।
3.  A चोरी का दोषी है।
4.  A आपरािधक �ासभंग का दोषी है।
  
Question Number : 122 Question Id : 97675521948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Indian Evidence Act, 1872, select the correct statement from the given options.
Options :
1.  Accomplice is not a competent witness.
2.  Minimum two witnesses are required to prove a fact.
3.  The order in which witnesses shall be examined is not fixed.
4.  Leading question may be asked in cross examination.
  



Question Number : 122 Question Id : 97675521948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सा� अिधिनयम, 1872 के संदभ� म�, िदए गए िवक�ो ंम� से सही कथन का चयन कीिजए।
Options :
1.  सह-अपराधी एक स�म गवाह नही ंहै।
2.  िकसी त� को सािबत करने के िलए कम से कम दो गवाहो ंकी आव�कता होती है।
3.  िजस �म म� गवाहो ंका परी�ण िकया जाएगा वह िनि�त नही ंहै।
4.  िजरह (cross examination) म� संकेत �� पूछे जा सकते ह�।
  
Question Number : 123 Question Id : 97675521949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 45 of the Indian Evidence Act, 1872, deals with:
Options :
1.  the hearsay evidence
2.  an estoppel
3.  an expert opinion
4.  an accomplice
  
Question Number : 123 Question Id : 97675521949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सा� अिधिनयम, 1872 की धारा 45 ______ से संबंिधत है।
Options :
1.  अनु�ुत सा� य
2.  िवबंधन
3.  िवशेष� की राय
4.  सह-अपराधी
  
Question Number : 124 Question Id : 97675521950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
As per the Indian Evidence Act, 1872, the relevancy of facts forming a part of the same transaction is termed as a rule of _______.
Options :
1.  Res judicata
2.  Res sub judice
3.  Res integra
4.  Res gestae
  
Question Number : 124 Question Id : 97675521950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सा� अिधिनयम, 1872 के अनुसार, एक ही लेन-देन का िह�ा बनने वाले त�ो ंकी �ासंिगकता को ______ का िनयम कहा जाता है।
Options :
1.  पूव�-� याय (Res judicata)
2.  िवचाराधीन वाद (Res sub judice)
3.  अिनण�त िवषय (Res integra)
4.  संबंिधत त� य और काय� (Res gestae)
  
Question Number : 125 Question Id : 97675521951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to Section 31 of the Indian Evidence Act, 1872, admissions are NOT a conclusive proof of the matter admitted but they may operate
as ________.
Options :
1.  a prohibition
2.  a limitation
3.  an estoppel
4.  a bar
  
Question Number : 125 Question Id : 97675521951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



भारतीय सा� अिधिनयम, 1872 की धारा 31 के अनुसार, � वीकृितयां (admissions) �ीकार िकए गए मामले का िनणा�यक �माण नही ंहै, लेिकन वे ______ के
�प म� ि�याशील हो सकती ह�।
Options :
1.  एक िनषेध (prohibition)
2.  एक प�रसीमा (limitation)
3.  एक िवबंधन (estoppel)
4.  एक बार (bar)
  
Question Number : 126 Question Id : 97675521952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
As per the Indian Evidence Act, 1872, witness to character may be __________.
Options :
1.  examined-in-chief only
2.  cross-examined only
3.  re-examined only
4.  cross-examined and re-examined
  
Question Number : 126 Question Id : 97675521952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सा� अिधिनयम, 1872 के अनुसार, च�र� सा�ी ______ हो सकता है।
Options :
1.  केवल मु� परीि�त (examined-in-chief only)
2.  केवल �ितपरीि�त � य�� त (cross-examined only)
3.  केवल पुन: परीि�त � य�� त (re-examined only)
4.  �ितपरीि�त और पुन: परीि�त � य�� त (cross-examined and re-examined)
  
Question Number : 127 Question Id : 97675521953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



With reference to the Indian Evidence Act, 1872, read the following statements A and B and select the correct option.

A. Oral evidence, in all cases must be direct

B. All facts including contents of documents or electronic record may be proved by oral evidence 
Options :
1.  Both Statements are correct
2.  Both statements are not correct
3.  A is correct, but B is not correct
4.  B is correct, but A is not correct
  
Question Number : 127 Question Id : 97675521953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सा� अिधिनयम, 1872 के संदभ� म�, िन�िल�खत कथनो ंA और B को पिढ़ए और सही िवक� का चयन कीिजए।

A. मौ�खक सा�, सभी मामलो ंम� ��� होना चािहए। 

B. द�ावेजो ंया इले�� ॉिनक �रकॉड� की िवषय-व� तु सिहत सभी त�ो ंको मौ�खक सा� �ारा सािबत िकया जा सकता है। 
Options :
1.  दोनो ंकथन सही ह�।
2.  दोनो ंकथन सही नही ंह�।
3.  A सही है, लेिकन B सही नही ंहै।
4.  B सही है, लेिकन A सही नही ंहै।
  
Question Number : 128 Question Id : 97675521954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 65-B of the Indian Evidence Act, 1872 (as amended) deals with the:
Options :
1.  proof as to electronic signatures
2.  admissibility of electronic records
3.  evidence relating to electronic records



4.  proof as to verification of digital signatures
  
Question Number : 128 Question Id : 97675521954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सा� अिधिनयम, 1872 (संशोिधत) की धारा 65-B ______ से संबंिधत है।
Options :
1.  इले�� ॉिनक ह�ा�र के संबंध म� �माण
2.  इले�� ॉिनक �रकॉड� की �ीकाय�ता
3.  इले�� ॉिनक �रकॉड� से संबंिधत सा�
4.  िडिजटल ह�ा�रो ंके स�ापन के संबंध म� �माण
  
Question Number : 129 Question Id : 97675521955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 119 of the Indian Evidence Act, 1872, as substituted by Criminal Law (Amendment) Act, 2013, now reads as:
Options :
1.  dumb witness
2.  blind witness
3.  witness unable to communicate verbally
4.  incompetent witness
  
Question Number : 129 Question Id : 97675521955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आपरािधक िविध (संशोधन) अिधिनयम, 2013 �ारा यथा �ित�थािपत भारतीय सा� अिधिनयम, 1872 की धारा 119 अब इस �कार है:
Options :
1.  मूक (गंूगा) सा�ी
2.  ��� टहीन सा�ी
3.  मौ�खक �प से संवाद करने म� असमथ� सा�ी
4.  अ�म सा�ी



  
Question Number : 130 Question Id : 97675521956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Supreme Court of India in Paniben vs. State of Gujarat -AIR 1992 SC1817 has laid down guidelines for:
Options :
1.  admission
2.  confession
3.  dying declaration
4.  burden of proof
  
Question Number : 130 Question Id : 97675521956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पािनबेन बनाम गुजरात रा� – AIR 1992 SC1817 के मामले म� भारत के उ� चतम �ायालय ने ______ के िलए िदशािनद�श िनधा��रत िकए ह�।
Options :
1.  � वीकृित (admission)
2.  सं� वीकृित (confession)
3.  मृ�ुकािलक कथन (dying declaration)
4.  सा� य का भार (burden of proof)
  
Question Number : 131 Question Id : 97675521957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Sections of the Code of Criminal Procedure, 1973, empowers a Magistrate to arrest a person?
Options :
1.  Section 45
2.  Section 44
3.  Section 41
4.  Section 48
  
Question Number : 131 Question Id : 97675521957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दंड �ि�या संिहता, 1973 की िन�िल�खत म� से कौन-सी धारा मिज�� ेट को िकसी ��� को िगर�ार करने का अिधकार देती है?
Options :
1.  धारा 45
2.  धारा 44
3.  धारा 41
4.  धारा 48
  
Question Number : 132 Question Id : 97675521958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 55-A of the Code of Criminal Procedure, 1973 (As amended), makes it obligatory for a person having custody of an accused to
__________.
Options :
1.  get his medical examination done
2.  inform him about grounds of arrest
3.  not put unnecessary restrain on the accused
4.  take care of the health and safety of the accused
  
Question Number : 132 Question Id : 97675521958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दंड �ि�या संिहता, 1973 (यथा संशोिधत) की धारा 55-A िकसी अिभयु� त की अिभर�ा रखने वाले ��� के िलए ______ अिनवाय� बनाती है।
Options :
1.  उसकी िचिक� सीय जांच करवाना
2.  िगर�ारी के आधार के बारे म� उसे सूिचत करना
3.  अिभयु� त पर अनाव�क अवरोध न लगाना
4.  अिभयु� त के �ा� और सुर�ा का �ान रखना
  
Question Number : 133 Question Id : 97675521959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The provisions for plea bargaining were inserted in the Code of Criminal Procedure, 1973 (As amended), in the year:
Options :
1.  2005
2.  2008
3.  2013
4.  2018
  
Question Number : 133 Question Id : 97675521959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दंड �ि�या संिहता, 1973 (यथा संशोिधत) म� सौदा अिभवचन (plea bargaining) के �ावधान िकस वष� म� स��िलत िकए गए थे?
Options :
1.  2005
2.  2008
3.  2013
4.  2018
  
Question Number : 134 Question Id : 97675521960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Supreme Court judgment in Lalita Kumari vs. Government of UP (2014) 2 SCC 1 is related to the ________.
Options :
1.  mandatory requirement of the registration of FIR by police
2.  guidelines to be followed while arresting a person
3.  pleas bargaining
4.  anticipatory bail
  
Question Number : 134 Question Id : 97675521960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
लिलता कुमारी बनाम उ� तर �देश सरकार (2014) 2 SCC 1 म� उ� चतम � यायालय का फैसला ______ से संबंिधत है।



Options :
1.  पुिलस �ारा �ाथिमकी (FIR ) दज� करने की अिनवाय� आव�कता
2.  िकसी ��� को िगर�ार करते समय पालन िकए जाने वाले िदशािनद�शों
3.  सौदा अिभवचन
4.  अि�म जमानत
  
Question Number : 135 Question Id : 97675521961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Sections of the Code of Criminal Procedure, 1973, states that ‘Every High Court shall so exercise its superintendence
over the courts of Judicial Magistrates subordinate to it as to ensure that there is an expeditious and proper disposal of cases by such
magistrates’?
Options :
1.  Section 482
2.  Section 478
3.  Section 483
4.  Section 401
  
Question Number : 135 Question Id : 97675521961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दंड �ि�या संिहता, 1973 की िन�िल�खत म� से िकस धारा म� कहा गया है िक '��ेक उ� �ायालय अपने अधीन�थ �ाियक मिज�� ेटो ंकी अदालतो ंपर अपने
अधी�ण का �योग करेगा तािक यह सुिनि�त हो सके िक ऐसे मिज�� ेटो ं�ारा मामलो ंका शी� और उिचत िनपटान िकया जा सके’?
Options :
1.  धारा 482
2.  धारा 478
3.  धारा 483
4.  धारा 401
  
Question Number : 136 Question Id : 97675521962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



The period of limitation for taking cognisance under Section 468 of the Code of Criminal Procedure, 1973, for offences punishable with
imprisonment for term exceeding one year, but not exceeding three years shall be _________.
Options :
1.  six months from the date of offence
2.  one year from the date of offence
3.  two years from the date of offence
4.  three years from the date of offence
  
Question Number : 136 Question Id : 97675521962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दंड �ि�या संिहता, 1973 की धारा 468 के तहत एक वष� से अिधक, लेिकन तीन वष� से अनिधक अविध के िलए कारावास से दंडनीय अपराधो ंके िलए सं�ान
लेने की प�रसीमा की अविध ______ होगी।
Options :
1.  अपराध की तारीख से छह महीने
2.  अपराध की तारीख से एक वष�
3.  अपराध की तारीख से दो वष�
4.  अपराध की तारीख से तीन वष�
  
Question Number : 137 Question Id : 97675521963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the principle of 'rule of law', who among the following said ‘the King must be under god and law’?
Options :
1.  AV Dicey
2.  Edward Coke
3.  Ivor Jennings
4.  Roscoe Pound
  
Question Number : 137 Question Id : 97675521963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



िविध शासन (rule of law)' के िस�ांत के संदभ� म�, िन�िल�खत म� से िकसने कहा था िक 'राजा को ई� वर और कानून के अधीन होना चािहए'?
Options :
1.  ए. वी. डाइसी
2.  एडवड� कोक
3.  आइवर जेिनं�
4.  रो�ो पाउंड
  
Question Number : 138 Question Id : 97675521964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Henry VIII clause is related to which of the following aspects of administrative law?
Options :
1.  Delegated legislation
2.  Natural justice
3.  Administrative discretion
4.  Doctrine of legitimate expectation
  
Question Number : 138 Question Id : 97675521964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
हेनरी VIII खंड �शासिनक िविध के िन�िल�खत म� से िकस पहलू से संबंिधत है?
Options :
1.  ��ायोिजत िवधान
2.  �ाकृितक �ाय
3.  �शासिनक िववेक
4.  िविधसंगत अपे�ा का िस�ांत
  
Question Number : 139 Question Id : 97675521965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A contracts to pay B ₹5 lakhs if B's house is burnt. With reference to the Indian Contract Act, 1870, this is a ______.



Options :
1.  contract of bailment
2.  contingent contract
3.  contract of indemnity
4.  wagering contract
  
Question Number : 139 Question Id : 97675521965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A, B के साथ संिवदा करता है िक यिद B का घर जल जाता है तो A उसे ₹5 लाख देगा। भारतीय संिवदा अिधिनयम, 1870 के संदभ� म�, यह एक ______ है।
Options :
1.  उपिनधान की संिवदा
2.  समाि�त संिवदा
3.  �ितपूित� की संिवदा
4.  पं�म संिवदा
  
Question Number : 140 Question Id : 97675521966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Indian Contract Act, 1870, the principle laid down in Carlill vs. Carbolic Smoke Ball Co. (1893) 1 Q.B. 256 is _____.
Options :
1.  a general offer can be accepted by everyone
2.  a special offer cannot be accepted by another person
3.  invitation to offer is made to solicit offer
4.  limited period offer cannot be accepted after lapse of prescribed period
  
Question Number : 140 Question Id : 97675521966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय संिवदा अिधिनयम 1870 के संदभ� म�, कािल�ल बनाम काब�िलक �ोक बॉल कंपनी (1893) 1 Q.B. 256 म� िनधा��रत िस�ांत � या है?
Options :



1.  एक सामा� ��ाव �� येक � य�� त के �ारा �ीकार िकया जा सकता है।
2.  एक िवशेष ��ाव िकसी अ� ��� �ारा �ीकार नही ंिकया जा सकता है।
3.  ��ाव का आमं�ण ��ाव मांगने के िलए िकया जाता है।
4.  प�रसीिमत अविध के ��ाव को िनधा��रत अविध समा� होने के बाद �ीकार नही ंिकया जा सकता है।
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Question Number : 141 Question Id : 97675521967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Indian Contract Act, 1870, select the correct statement from the given options.
Options :
1.  Consideration is necessary for the creation of an agency.
2.  The authority of an agent should always be in express terms.
3.  A minor can appoint an agent.
4.  No consideration is necessary to create an agency.
  
Question Number : 141 Question Id : 97675521967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय संिवदा अिधिनयम 1870 के संदभ� म�, िदए गए िवक�ो ंम� से सही कथन का चयन कीिजए।
Options :
1.  िकसी एज�सी के सृजन के िलए �ितफल (Consideration) आव�क है।
2.  एज�ट का अिधकार हमेशा �� श�ो ंम� होना चािहए।
3.  कोई भी नाबािलग एज�ट िनयु� कर सकता है।
4.  एज�सी सृिजत करने के िलए िकसी �ितफल (consideration) की आव�कता नही ंहै।
  
Question Number : 142 Question Id : 97675521968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Law of Torts, the leading case of Ashby vs. White (1703) 2 Ld. Raym. 938 deals with the principle of:
Options :
1.  Damnum sine injuria
2.  Vis major
3.  Vicarious liability
4.  Ubi jus ibi remedium
  
Question Number : 142 Question Id : 97675521968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



अपकृ� य िविध के संदभ� म�, एशबी बनाम �ाइट (1703) 2 Ld. Raym. 938 का लीिडंग केस (leading case) ______ के िस�ांत से संबंिधत है।
Options :
1.  िबना �ित के हािन (Damnum sine injuria)
2.  दैवी कृ� य (Vis major)
3.  �ितिनिधक दािय� (Vicarious liability)
4.  जहां अिधकार है वहां उपचार भी है (Ubi jus ibi remedium)
  
Question Number : 143 Question Id : 97675521969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When a person consents to the infliction of harm upon himself, he has no remedy for that in tort. This is known as:
Options :
1.  doctrine of necessity
2.  contributory negligence
3.  volenti non fit injuria
4.  a mistake
  
Question Number : 143 Question Id : 97675521969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जब कोई ��� खुद को नुकसान प�ंचाने के िलए सहमित देता है, तो उसके पास उस अपकृ� य के िलए कोई उपचार नही ंहै। इसे िकस �प म� जाना जाता है?
Options :
1.  आव�कता का िस�ांत (doctrine of necessity)
2.  योगदायी उपे�ा (contributory negligence)
3.  � वे� छा से उठाई गई �ित – �ित नही ं(volenti non fit injuria)
4.  एक गलती (a mistake)
  
Question Number : 144 Question Id : 97675521970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The first Report of Law Commission of India was on which of the following topics in Law of Torts?



Options :
1.  General defences
2.  Statutory recognition of the liability of state
3.  Professional negligence
4.  Remoteness of damages
  
Question Number : 144 Question Id : 97675521970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत के िविध आयोग की पहली �रपोट� अपकृ� य िविध म� िन�िल�खत म� से िकस िवषय पर थी?
Options :
1.  सामा� �ितर�ा
2.  रा� के दािय� की वैधािनक मा�ता
3.  पेशेवर उपे�ा
4.  �ित की दूर� थता
  
Question Number : 145 Question Id : 97675521971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Law of Torts, the doctrine of resipsa louitur is applied in cases of:
Options :
1.  nuisance
2.  vicarious liability
3.  defamation
4.  negligence
  
Question Number : 145 Question Id : 97675521971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अपकृ� य िविध के संदभ� म�, � वयं �माण (resipsa louitur) का िस�ांत ______ के मामलो ंम� लागू होता है।
Options :



1.  परेशानी (�ूस�स)
2.  �ितिनिधक दािय�
3.  मानहािन
4.  उपे�ा (ने��ज�स)
  
Question Number : 146 Question Id : 97675521972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Consumer Protection Act, 2019, the provision for establishment of Consumer Mediation Cell has been made in _________.
Options :
1.  Section 74
2.  Section 15
3.  Section 30
4.  Section 91
  
Question Number : 146 Question Id : 97675521972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उपभो�ा संर�ण अिधिनयम, 2019 के संदभ� म�, ______ म� उपभो�ा म��थता �को� की �थापना का �ावधान िकया गया है।
Options :
1.  धारा 74
2.  धारा 15
3.  धारा 30
4.  धारा 91
  
Question Number : 147 Question Id : 97675521973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 10 of the Consumer Protection Act, 2019 deals with the:
Options :
1.  Consumer Protection Council



2.  Central Consumer Protection Authority
3.  Consumer Disputes Redressal Commission
4.  Product liability
  
Question Number : 147 Question Id : 97675521973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उपभो�ा संर�ण अिधिनयम, 2019 की धारा 10 ______ से संबंिधत है।
Options :
1.  उपभो�ा संर�ण प�रषद
2.  क� �ीय उपभो�ा संर�ण �ािधकरण
3.  उपभो�ा िववाद िनवारण आयोग
4.  उ�ाद दािय�
  
Question Number : 148 Question Id : 97675521974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Law of Torts, in MC Mehta vs Union of India - AIR 1987 SC 1086, the Supreme Court of India has evolved the rule of
________.
Options :
1.  strict liability
2.  absolute liability
3.  limited liability
4.  conditional liability
  
Question Number : 148 Question Id : 97675521974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अपकृ� य िविध के संदभ� म�, एम.सी. मेहता बनाम भारत संघ - AIR 1987 SC 1086 म�, भारत के उ� चतम �ायालय ने ______ का िनयम िवकिसत िकया है।
Options :
1.  स� दािय� व
2.  पूण� दािय�



3.  सीिमत दािय�
4.  सशत� दािय�
  
Question Number : 149 Question Id : 97675521975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to Section 47 of the Consumer Protection Act, 2019, the State Commission shall have jurisdiction to entertain complaints where value
of goods or services paid as consideration exceed ₹1 crore but does NOT exceed __________.
Options :
1.  ₹5 crores
2.  ₹3 crores
3.  ₹10 crores
4.  ₹20 crores
  
Question Number : 149 Question Id : 97675521975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उपभो�ा संर�ण अिधिनयम, 2019 की धारा 47 के अनुसार, रा� आयोग के पास उन िशकायतो ंपर िवचार करने की अिधका�रता होगी जहां �ितफल के �प
म� �द� त व�ुओ ंया सेवाओ ंका मू� ₹1 करोड़ से अिधक है, लेिकन ______ से अिधक नही ंहै।
Options :
1.  ₹5 करोड़
2.  ₹3 करोड़
3.  ₹10 करोड़
4.  ₹20 करोड़
  
Question Number : 150 Question Id : 97675521976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Consumer Protection Act, 2019, read the following statements A and B and select the correct option.

A. E-commerce has been included in the Act



B. Manufacturer and service provider have been made liable for misleading advertisement 
Options :
1.  Both the statements are not correct
2.  A is correct but B is not correct
3.  B is correct but A is not correct
4.  Both the statements are correct
  
Question Number : 150 Question Id : 97675521976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उपभो�ा संर�ण अिधिनयम, 2019 के संदभ� म�, िन�िल�खत कथनो ंA और B को पिढ़ए और सही िवक� का चयन कीिजए।

A. ई-कॉमस� को अिधिनयम म� शािमल िकया गया है।

B. �ामक िव�ापन के िलए िनमा�ता और सेवा �दाता को उ� तरदायी बनाया गया है।
Options :
1.  दोनो ंकथन सही नही ंह�।
2.  A सही है लेिकन B सही नही ंहै।
3.  B सही है लेिकन A सही नही ंहै।
4.  दोनो ंकथन सही ह�।
  
Question Number : 151 Question Id : 97675521977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The period of limitation for filing complaint before the District, State or National Commission under the Consumer Protection Act, 2019, is
______ from the cause of action.
Options :
1.  one year
2.  six months
3.  two years



4.  three years
  
Question Number : 151 Question Id : 97675521977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उपभो�ा संर�ण अिधिनयम, 2019 के तहत िजला, रा� या रा�� ीय आयोग के सम� िशकायत दज� करने की प�रसीमा अविध वाद हेतुक (cause of action) से
______ है।
Options :
1.  एक वष�
2.  छह महीने
3.  दो वष�
4.  तीन वष�
  
Question Number : 152 Question Id : 97675521978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Whoever fails to comply with the directions of Central Authority under Sections 20 and Section 21 of the Consumer Protection Act, 2019, shall
be punished with an imprisonment of a term which may extend to _______ or fine which may extend to ______ or both.
Options :
1.  one year, ₹5 lakhs
2.  two years, ₹10 lakhs
3.  one year, ₹10 lakhs
4.  six months, ₹20 lakhs
  
Question Number : 152 Question Id : 97675521978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जो कोई भी उपभो�ा संर�ण अिधिनयम, 2019 की धारा 20 और धारा 21 के तहत क� �ीय �ािधकरण के िनद�शो ंका पालन करने म� िवफल रहता है, उसे
______ तक के कारावास या ______ तक के जुमा�ने या दोनो ंसे दंिडत िकया जाएगा।
Options :
1.  एक साल, ₹5 लाख
2.  दो साल, ₹10 लाख



3.  एक साल, ₹10 लाख
4.  छह महीने, ₹20 लाख
  
Question Number : 153 Question Id : 97675521979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Under Section 100 of the Code of Civil Procedure, 1908 (As amended), appeal lies to High Court on ______.
Options :
1.  substantial question of law
2.  any question of law
3.  question of law and fact
4.  important question of fact
  
Question Number : 153 Question Id : 97675521979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 (यथा संशोिधत) की धारा 100 के तहत, ______ पर उ� �ायालय म� अपील की जा सकती है।
Options :
1.  सारवान िविध �� न
2.  िविध के िकसी �� न
3.  िविध और त� के �� न
4.  त� के मह�पूण� ��
  
Question Number : 154 Question Id : 97675521980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A suit by 'Indigent person is governed under _______ of the Code of Civil Procedure, 1908 (as amended).
Options :
1.  Order XXIII
2.  Order XXXIII
3.  Order XXIV



4.  Order XXXI
  
Question Number : 154 Question Id : 97675521980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िनध�न � य�� त �ारा वाद, िसिवल �ि�या संिहता, 1908 (संशोिधत) के ______ के तहत शािसत होता है।
Options :
1.  आदेश XXIII
2.  आदेश XXXIII
3.  आदेश XXIV
4.  आदेश XXXI
  
Question Number : 155 Question Id : 97675521981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
As per Section 38 of the Code of Civil Procedure, 1908, a decree may be executed _________.
Options :
1.  only by the Court which passed it
2.  only by the Court to which it was sent for execution
3.  by any Court in India
4.  either by the Court which passed it or by the Court to which it was sent for execution
  
Question Number : 155 Question Id : 97675521981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 की धारा 38 के अनुसार, िकसी िड�ी (decree) को ______ �ारा िन�ािदत िकया जा सकता है।
Options :
1.  केवल उस �ायालय, िजसने इसे पा�रत िकया था
2.  केवल उस �ायालय, िजसम� इसे िन�ादन के िलए भेजा गया था
3.  भारत म� िकसी भी �ायालय
4.  या तो वह �ायालय िजसने इसे पा�रत िकया था या वह �ायालय िजसम� इसे िन�ादन के िलए भेजा गया था



  
Question Number : 156 Question Id : 97675521982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the correct statement with respect to Section 80 of the Code of Civil Procedure, 1908.
Options :
1.  A suit against the government cannot be instituted without serving notice of 30 days.
2.  The requirement of notice cannot be waived in any circumstances.
3.  In case when a suit is for urgent or immediate relief there is no need for serving notice.
4.  In case when a suit is for urgent or immediate relief, with the leave of the court, a suit may be instituted without the service of notice.
  
Question Number : 156 Question Id : 97675521982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 की धारा 80 के संबंध म� सही कथन का चयन कर�।
Options :
1.  30 िदन की सूचना िदए िबना सरकार के िव�� कोई वाद सं�� थत नही ंिकया जा सकता।
2.  सूचना की अपे�ा को िकसी भी प�र��थित म� माफ नही ंिकया जा सकता है।
3.  जब कोई वाद अ� याव� यक या त�ाल राहत के िलए हो तो ऐसे मामले म� सूचना देने की कोई आव�कता नही ंहै।
4.  जब कोई वाद अ� याव� यक या त�ाल राहत के िलए हो, तो ऐसे मामले म�, अदालत की अनुमित से, सूचना िदए िबना वाद सं�� थत िकया जा सकता है।
  
Question Number : 157 Question Id : 97675521983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to the Code of Civil Procedure, 1908, select the correct pairing of Sections and the subject matter.
Options :
1.  Section 34 - Interest 
Section 35 - Costs
2.  Section 34 - Costs 
Section 35 - Interest
3.  Section 34 - Judgment and decree 
Section 35 - Penalty for default



4.  Section 34 - Subsistence allowance 
Section 35 - Arrest and detention
  
Question Number : 157 Question Id : 97675521983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 के संदभ� म�, धाराओ ंऔर िवषय-व�ु के सही यु� का चयन कर�।
Options :
1.  धारा 34 - �ाज 
धारा 35 - लागत
2.  धारा 34 - लागत 
धारा 35 - �ाज
3.  धारा 34 - िनण�य और िड�ी 
धारा 35 - चूक के िलए शा��
4.  धारा 34 - िनवा�ह भ�ा 
धारा 35 - िगर�ारी और कैद
  
Question Number : 158 Question Id : 97675521984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The provision for settlement of disputes outside the court was inserted in the Code of Civil Procedure, 1908 (as amended), in the year:
Options :
1.  1976
2.  1999
3.  1956
4.  2005
  
Question Number : 158 Question Id : 97675521984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
� यायालय के बाहर िववादो ंके िनपटारे का �ावधान िसिवल �ि�या संिहता, 1908 (संशोिधत) म� िकस वष� म� स�� मिलत िकया गया था?
Options :



1.  1976
2.  1999
3.  1956
4.  2005
  
Question Number : 159 Question Id : 97675521985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
As per the Code of Civil Procedure, 1908, an order given by the Court passing a decree to the competent court to attach any property of judgment
debtor is called ________.
Options :
1.  garnishee order
2.  caveat
3.  precept
4.  attachment order
  
Question Number : 159 Question Id : 97675521985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 के अनुसार, िनण�त देनदार की िकसी भी संपि� को कुक�  करने के िलए स�म � यायालय को िड�ी सं�ािमत करते �ए � यायालय
�ारा िदये गये आदेश को ______ कहा जाता है।
Options :
1.  गािन�शी आदेश (garnishee order)
2.  कैिवएट (caveat)
3.  आ�ाप� (precept)
4.  कुक� आदेश (attachment order)
  
Question Number : 160 Question Id : 97675521986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Order II of the Code of Civil Procedure, 1908 deals with the:
Options :



1.  parties to suit
2.  institution of suit
3.  frame of suit
4.  recognised agents and pleaders
  
Question Number : 160 Question Id : 97675521986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 का आदेश II ______ से संबंिधत है।
Options :
1.  वाद के प�कारों
2.  वाद के सं�� थत िकए जाने
3.  वाद की िवरचना
4.  मा�ता�ा� एज�ट और �ीडर
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Question Number : 161 Question Id : 97675521987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A, a petitioner filed a writ petition before High Court under Article 226 of the Constitution of India. The same was dismissed. Thereafter, the
petitioner filed a writ petition to Supreme Court under Article 32 of the Constitution of India, for the same relief on the same grounds. The
petition was dismissed as barred by res judicate under Section 11 of the Code of Civil Procedure, 1908. 

The given facts resemble with the case of ________________.
Options :
1.  Union of India vs Pramod Gupta AIR 2005 SC 3708
2.  Alka Gupta vs. Narendra Kumar Gupta (2010)10 SCC 141
3.  State of Rajasthan vs. Jeev Raj (2011) 12 SCC 252
4.  Daryao vs. State of UP AIR 1961 SC 1457
  
Question Number : 161 Question Id : 97675521987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यािचकाकता� A ने भारत के संिवधान के अनु�ेद 226 के तहत उ� �ायालय के सम� एक �रट यािचका दायर की। उसे खा�रज कर िदया गया। इसके बाद,
यािचकाकता� ने भारत के संिवधान के अनु�ेद 32 के तहत उसी आधार पर समान राहत के िलए उ� चतम � यायालय म� एक �रट यािचका दायर की। यािचका को
िसिवल �ि�या संिहता, 1908 की धारा 11 के तहत पूव� � याय �ारा विज�त मानकर खा�रज कर िदया गया। 

िदए गए त� ______ के मामले से िमलते-जुलते ह�।
Options :
1.  भारत संघ बनाम �मोद गु�ा AIR 2005 SC 3708



2.  अलका गु�ा बनाम नर�� कुमार गु�ा (2010)10 SCC 141
3.  राज�थान रा� बनाम जीव राज (2011) 12 SCC 252
4.  द�रयाओ बनाम उ� तर �देश रा� AIR 1961 SC 1457
  
Question Number : 162 Question Id : 97675521988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to environmental studies, which of the following was adopted by the UN General Assembly in the year 1983?
Options :
1.  Stockholm declaration
2.  Vienna convention on climate change
3.  World conservation strategy
4.  World charter for nature
  
Question Number : 162 Question Id : 97675521988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पया�वरणीय अ�यन के स�भ� म�, वष� 1983 म� संयु� रा��  महासभा �ारा िन�िल�खत म� से िकसे अंगीकृत िकया गया था?
Options :
1.  �ॉकहोम घोषणा
2.  जलवायु प�रवत�न पर िवयना स�ेलन
3.  िव� संर�ण रणनीित
4.  �कृित के िलए िव� चाट�र
  
Question Number : 163 Question Id : 97675521989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to environmental studies, the World Commission on Environment and Development is known as:
Options :
1.  Agenda 21
2.  Brundtland Commission



3.  U-Thant Commission
4.  Al Gore Commission
  
Question Number : 163 Question Id : 97675521989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पया�वरणीय अ�यन के संदभ� म�, पया�वरण और िवकास संबंधी िव� आयोग को ______ के �प म� जाना जाता है।
Options :
1.  एज�डा 21
2.  �ंटल�ड आयोग
3.  यू-थांट आयोग
4.  अल गोर आयोग
  
Question Number : 164 Question Id : 97675521990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to environmental studies, select the correct statement from the given options:
Options :
1.  Paris Convention is a binding international treaty on Bio- diversity conservation.
2.  Paris Convention is a binding international treaty on climate change.
3.  Paris Convention is a binding international treaty on wildlife protection.
4.  Paris Convention is a binding international treaty on sustainable development.
  
Question Number : 164 Question Id : 97675521990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पया�वरणीय अ�यन के संदभ� म� िदए गए िवक�ो ंम� से सही कथन का चयन कीिजए।
Options :
1.  पे�रस क��शन जैव िविवधता संर�ण पर एक आब�कर अंतरा��� ीय संिध है।
2.  पे�रस क��शन जलवायु प�रवत�न पर एक आब�कर अंतरा��� ीय संिध है।
3.  पे�रस क��शन व�जीव संर�ण पर एक आब�कर अंतरा��� ीय संिध है।



4.  पे�रस क��शन संधारणीय िवकास पर एक आब�कर अंतरा��� ीय संिध है।
  
Question Number : 165 Question Id : 97675521991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The object of Public Liability Insurance Act, 1991 is _________.
Options :
1.  to seek compliance of all environmental laws
2.  to make companies liable for pollution
3.  to promote forest conservation
4.  to provide for damages to victims of an accident as a result of handling hazardous substances
  
Question Number : 165 Question Id : 97675521991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
लोक दािय� व बीमा अिधिनयम, 1991 का उ�े�, ______ है।
Options :
1.  सभी पया�वरणीय कानूनो ंका अनुपालन करना
2.  �दूषण के िलए कंपिनयो ंको िज� मेदार बनाना
3.  वन संर�ण को बढ़ावा देना
4.  खतरनाक पदाथ� के संचालन के प�रणाम��प दुघ�टना के िशकार �ए लोगो ंको हजा�ना �दान करना
  
Question Number : 166 Question Id : 97675521992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Whoever fails to comply or contravenes any of the provisions of the Environment Protect Act, 1986 is liable to punishment which may extend to
_________.
Options :
1.  two years
2.  three years
3.  five years
4.  ten years



  
Question Number : 166 Question Id : 97675521992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जो कोई भी � य�� त पया�वरण संर�ण अिधिनयम, 1986 के िकसी भी �ावधान का पालन करने म� िवफल रहता है या उसका उ�ंघन करता है, वह दंड के िलए
दायी होगा जो ______ तक हो सकता है।
Options :
1.  दो साल
2.  तीन साल
3.  पांच साल
4.  दस साल
  
Question Number : 167 Question Id : 97675521993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The qualification for the appointment of a Chairperson of National Green Tribunal under the National Green Tribunal Act, 2010 is:
Options :
1.  former judge of High Court
2.  environmental expert
3.  former Judge of the Supreme Court or former Chief Justice of High Court
4.  former Chief Justice of Supreme Court
  
Question Number : 167 Question Id : 97675521993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रा�� ीय ह�रत अिधकरण अिधिनयम, 2010 के तहत रा�� ीय ह�रत अिधकरण के अ�� (Chairperson) की िनयु�� के िलए यो�ता � या है?
Options :
1.  उ� �ायालय के पूव� �ायाधीश
2.  पया�वरण िवशेष�
3.  उ� चतम �ायालय के पूव� �ायाधीश या उ� �ायालय के पूव� मु� �ायाधीश
4.  उ� चतम � यायालय के पूव� मु� �ायाधीश



  
Question Number : 168 Question Id : 97675521994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who among the following was the Chairperson of the Committee who drafted the Universal Declaration of Human Rights-UDHR?
Options :
1.  Eleanor Roosevelt
2.  Alexander Bogomolov
3.  Dr Charles Malik
4.  Charles Dukes
  
Question Number : 168 Question Id : 97675521994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन उस सिमित का अ�� (Chairperson) था िजसने मानव अिधकारो ंकी साव�भौिमक घोषणा- UDHR का मसौदा तैयार िकया था?
Options :
1.  एिलनोर �ज़वे� ट
2.  अले��डर बोगोमोलोव
3.  डॉ. चा�� मिलक
4.  चा�� �ू�
  
Question Number : 169 Question Id : 97675521995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Articles of the UN Charter enumerates promotion and encouragement of human rights and fundamental freedoms?
Options :
1.  Article 3
2.  Article 1(3)
3.  Article 2
4.  Article 4
  
Question Number : 169 Question Id : 97675521995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
संयु� रा��  चाट�र का िन�िल�खत म� से कौन-सा अनु�ेद मानव अिधकारो ंऔर मौिलक �तं�ता के संवध�न और �ो�ाहन का वण�न करता है?
Options :
1.  अनु�ेद 3
2.  अनु�ेद 1(3)
3.  अनु�ेद 2
4.  अनु�ेद 4
  
Question Number : 170 Question Id : 97675521996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which of the following regions of the world is there no regional Charter on Human Rights?
Options :
1.  Europe
2.  Africa
3.  Asia
4.  America
  
Question Number : 170 Question Id : 97675521996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िव� के िन�िल�खत म� से िकस �े� म� मानवािधकारो ंपर कोई �े�ीय चाट�र नही ंहै?
Options :
1.  यूरोप
2.  अ�ीका
3.  एिशया
4.  अमे�रका
  
Question Number : 171 Question Id : 97675521997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
As of September 2021, who among the following is the Chairperson of National Human Rights Commission?
Options :
1.  Justice KG Balakrishnan
2.  Justice Arun Mishra
3.  Justice PC Pant
4.  Justice AK Sikri
  
Question Number : 171 Question Id : 97675521997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसत�र 2021 तक की ��थित के अनुसार, रा�� ीय मानवािधकार आयोग के अ�� (Chairperson) कौन ह�?
Options :
1.  �ायमूित� के.जी. बालकृ�न
2.  �ायमूित� अ�ण िम�ा
3.  �ायमूित� पी.सी. पंत
4.  �ायमूित� ए.के. सीकरी
  
Question Number : 172 Question Id : 97675521998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Chairperson of the National Human rights Commission shall be _________________.
Options :
1.  former Chief Justice or judge of the Supreme Court of India
2.  only former Chief Justice of India
3.  a judge of the High Court
4.  an eminent jurist
  
Question Number : 172 Question Id : 97675521998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रा�� ीय मानवािधकार आयोग के अ�� (Chairperson) ______ होगें।



�
Options :
1.  भारत के उ� चतम �ायालय के पूव� मु� �ायाधीश या �ायाधीश
2.  केवल भारत के पूव� मु� �ायाधीश
3.  उ� �ायालय के एक �ायाधीश
4.  एक ��ात �ायिवद
  
Question Number : 173 Question Id : 97675521999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following organisations was awarded Nobel Peace prize twice?
Options :
1.  UNHCR
2.  ILO
3.  Un Peacekeeping Forces
4.  World Food Program
  
Question Number : 173 Question Id : 97675521999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस संगठन को दो बार नोबेल शांित पुर�ार से स�ािनत िकया गया था?
Options :
1.  यूएनएचसीआर (UNHCR)
2.  आईएलओ (ILO)
3.  संयु� रा��  शांित सेना
4.  िव� खा� काय��म
  
Question Number : 174 Question Id : 97675522000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The provision for State Human Rights Commission was provided in Section ______ of the Protection of Human Rights Act, 1993.
Options :



1.  21
2.  25
3.  12
4.  17
  
Question Number : 174 Question Id : 97675522000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
मानव अिधकार संर�ण अिधिनयम 1993 की धारा ______ म� रा� मानवािधकार आयोग का �ावधान िकया गया है।
Options :
1.  21
2.  25
3.  12
4.  17
  
Question Number : 175 Question Id : 97675522001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the Copyright Act, 1957 (As amended), the term of the copyright in government work is _____.
Options :
1.  50 years from the beginning of the calendar year next following the year in which the work is first published
2.  60 years from the beginning of the calendar year next following the year in which the work is first published
3.  30 years from the beginning of the calendar year next following the year in which the work is first published
4.  40 years from the beginning of the calendar year next following the year in which the work is first published
  
Question Number : 175 Question Id : 97675522001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ितिल� यिधकार अिधिनयम (Copyright Act) 1957 (यथा संशोिधत) के अनुसार, सरकारी कृित म� �ितिल� यिधकार (कॉपीराइट) की अविध िकतनी है?
Options :
1.  उस वष� के अगले कैल�डर वष� की शु�आत से 50 वष� िजसम� कृित पहली बार �कािशत �ई है।



2.  उस वष� के अगले कैल�डर वष� की शु�आत से 60 वष� िजसम� कृित पहली बार �कािशत �ई है।
3.  उस वष� के अगले कैल�डर वष� की शु�आत से 30 वष� िजसम� कृित पहली बार �कािशत �ई है।
4.  उस वष� के अगले कैल�डर वष� की शु�आत से 40 वष� िजसम� कृित पहली बार �कािशत �ई है।
  
Question Number : 176 Question Id : 97675522002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 11 of the Designs Act, 2000 deals with the:
Options :
1.  copyright in registered design
2.  restoration of lapsed design
3.  registration of design
4.  cancellation of design
  
Question Number : 176 Question Id : 97675522002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िडजाइन अिधिनयम 2000 की धारा 11 ______ से संबंिधत है।
Options :
1.  पंजीकृत िडजाइन म� कॉपीराइट
2.  �पगत िडजाइन की बहाली
3.  िडजाइन के पंजीकरण
4.  िडजाइन के िनर�ीकरण
  
Question Number : 177 Question Id : 97675522003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and select the correct option.

A. Registration of trademark is optional



B A trademark is initially registered for seven years but may be renewed from time to time
Options :
1.  A and B both are not correct
2.  A is correct but B is not correct
3.  A and B both are correct
4.  B is correct but A is not correct
  
Question Number : 177 Question Id : 97675522003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत कथनो ंको पिढ़ए और सही िवक� का चयन कीिजए।

A. ट� ेडमाक�  का पंजीकरण वैक��क है। 

B. कोई भी ट� ेडमाक�  �ारंभ म� सात वष� के िलए पंजीकृत होता है लेिकन समय-समय पर इसका नवीनीकरण कराया जा सकता है।
Options :
1.  A और B दोनो ंसही नही ंह�।
2.  A सही है लेिकन B सही नही ंहै।
3.  A और B दोनो ंसही ह�।
4.  B सही है लेिकन A सही नही ंहै।
  
Question Number : 178 Question Id : 97675522004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Patents Act, 1970 (As amended), select the correct statement from the following.
Options :
1.  The term of the patent shall be 10 years from the date of grant of the patent.
2.  The term of the patent shall be 10 years from the date of filing of the application for the patent.
3.  The term of the patent shall be 20 years from the date of filing of the application for the patent.
4.  The term of the patent shall be 12 years from the date of filing of the application for the patent.



  
Question Number : 178 Question Id : 97675522004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पेट�ट अिधिनयम, 1970 (यथा संशोिधत) के संदभ� म�, िन�िल�खत म� से सही कथन का चयन कीिजए।
Options :
1.  पेट�ट की अविध पेट�ट की मंजूरी की तारीख से 10 वष� होगी।
2.  पेट�ट की अविध पेट�ट के िलए आवेदन दा�खल करने की तारीख से 10 वष� होगी।
3.  पेट�ट की अविध पेट�ट के िलए आवेदन दा�खल करने की तारीख से 20 वष� होगी।
4.  पेट�ट की अविध पेट�ट के िलए आवेदन दा�खल करने की तारीख से 12 वष� होगी।
  
Question Number : 179 Question Id : 97675522005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
John Doe order' in proceedings for infringement of copyright under Copyright Act, 1957 (as amended), is known in India as ______.
Options :
1.  Kishore Kumar order
2.  Dev Anand order
3.  Creative order
4.  Ashok Kumar order
  
Question Number : 179 Question Id : 97675522005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ितिल� यिधकार (कॉपीराइट) अिधिनयम, 1957 (यथा संशोिधत) के तहत �ितिल� यिधकार (कॉपीराइट) के अितलंघन की काय�वाही म� 'जॉन डो आदेश' को भारत
म� ______ के �प म� जाना जाता है।
Options :
1.  िकशोर कुमार आदेश
2.  देव आनंद आदेश
3.  रचना�क आदेश
4.  अशोक कुमार आदेश



  
Question Number : 180 Question Id : 97675522006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and select the correct option.

A. If a person file convention application under Patent Cooperation Treaty (PCT) , he will receive global patent 

B. The Central Government can revoke patent in public interest.
Options :
1.  B is correct but A is not correct
2.  A is correct but B is not correct
3.  A and B both are correct
4.  A and B both are not correct
  
Question Number : 180 Question Id : 97675522006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत कथनो ंको पिढ़ए और सही िवक� का चयन कीिजए।

A. यिद कोई ��� पेट�ट सहयोग संिध (PCT) के तहत क��शन आवेदन दा�खल करता है, तो उसे वैि�क पेट�ट �ा� होगा। 

B. क� � सरकार जनिहत म� पेट�ट को �ितसं�त कर सकती है।
Options :
1.  B सही है लेिकन A सही नही ंहै।
2.  A सही है लेिकन B सही नही ंहै।
3.  A और B दोनो ंसही ह�।
4.  A और B दोनो ंसही नही ंह�।
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Question Number : 181 Question Id : 97675522007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Copyright Act 1957, the doctrine of 'sweat of the brow' has been discarded by the Supreme Court of India in which of the
following case?
Options :
1.  Entertain Network vs. Super Cassette Industries (2008) 9 SCALE 69
2.  Indian Performing Rights Society Ltd. Vs. Eastern India Motion Pictures Association (1997) 2 SCC 820



3.  Eastern Book Co. vs D.B. Modak (2008) 1 SCC1
4.  RG Anand vs. Deluxe Films AIR 1978 SC 1613
  
Question Number : 181 Question Id : 97675522007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस मामले म� भारत के उ� चतम �ायालय �ारा �ितिल� यिधकार (कॉपीराइट) अिधिनयम 1957 के संदभ� म�, 'खून पसीना एक करने (sweat of
the brow)' के िस�ांत को खा�रज कर िदया गया है?
Options :
1.  एंटरटेन नेटवक�  बनाम सुपर कैसेट इंड�� ीज (2008) 9 �ेल 69
2.  इंिडयन परफॉिम�ग राइट्स सोसाइटी िलिमटेड बनाम ई�न� इंिडया मोशन िप�स� एसोिसएशन (1997) 2 SCC 820
3.  ई�न� बुक कंपनी बनाम डी.बी. मोदक (2008) 1 SCC1
4.  आरजी आनंद बनाम डील� िफ�� AIR 1978 SC 1613
  
Question Number : 182 Question Id : 97675522008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The distinction between infringement and passing off under the Trademarks Act, 1999 was explained by the Supreme Court of India in:
Options :
1.  Durga Dutt vs. Navratna Laboratories AIR 1965 SC 98
2.  NR Dongre vs. Whirlpool Corporation (1996) 5 SCC 714
3.  Cadila Healthcare Ltd. vs. Cadila Pharmaceuticals (2001) 5 SCC 65
4.  Laxmikant V. Patel vs. Chetanbhai Shah (22002) 3 SCC 65
  
Question Number : 182 Question Id : 97675522008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ट� ेडमाक�  अिधिनयम, 1999 के तहत अितलंघन और पािसंग ऑफ (passing off) के बीच के अंतर को भारत के उ� चतम �ायालय �ारा िकस मामले म� � प� ट
िकया गया था?
Options :
1.  दुगा� द� बनाम नवर� �योगशालाएं AIR 1965 SC 98



2.  एन.आर. डोगंरे बनाम �ल�पूल कॉप�रेशन (1996) 5 SCC 714
3.  कैिडला हे�केयर िलिमटेड बनाम कैिडला फामा��ूिटक� (2001) 5 SCC 65
4.  ल�ीकांत वी. पटेल बनाम चेतनभाई शाह (22002) 3 SCC 65
  
Question Number : 183 Question Id : 97675522009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
As per the National Clinical Establishment (Registration and Regulation Act, 2010), the Chairperson of the National Council for Clinical
Establishment shall be the __________ ex officio.
Options :
1.  Commissioner of Medical and Health Services - Government of India
2.  Minister of Health and Family Welfare - Government of India
3.  Secretary Health and Family Welfare - Government of India
4.  Director General of Medical Services - Ministry of Health and Family Welfare, Government of India
  
Question Number : 183 Question Id : 97675522009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रा�� ीय नैदािनक   �थापना (पंजीकरण और िविनयमन अिधिनयम, 2010) के अनुसार, रा�� ीय नैदािनक   �थापना प�रषद के अ�� (Chairperson) पदेन ______
होगें।
Options :
1.  िचिक� सा एवं � वा� � य सेवा आयु� त - भारत सरकार
2.  �ा� और प�रवार क�ाण मं�ी - भारत सरकार
3.  �ा� और प�रवार क�ाण सिचव - भारत सरकार
4.  िचिक�ा सेवा महािनदेशक - �ा� और प�रवार क�ाण मं�ालय, भारत सरकार
  
Question Number : 184 Question Id : 97675522010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Mental Healthcare Act, 2017, every person, who is not a minor has the right to make _______ in writing about the way the
person wishes to be cared for and treated for his mental illness.
Options :



1.  a request
2.  a suggestion
3.  an advance directive
4.  a proposition
  
Question Number : 184 Question Id : 97675522010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
मानिसक �ा� देखभाल अिधिनयम, 2017 के संदभ� म�, ��ेक ���, जो अवय� नही ंहै, को यह अिधकार है िक वह अपनी मानिसक बीमारी के िलए िजस
तरह से देखभाल और उपचार चाहता है, उसके बारे म� िल�खत म� ______ दे सकता है।
Options :
1.  एक अनुरोध
2.  एक सुझाव
3.  एक अि�म िनद�श
4.  एक ��ाव
  
Question Number : 185 Question Id : 97675522011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Section 5-A of the Medical Termination of Pregnancy Act, 1971 (As amended in 2021), relates to the:
Options :
1.  protection of the privacy of woman whose pregnancy has been terminated
2.  enhancement of the period of gestation for medical abortion in certain circumstances
3.  requirement of two medical experts in certain cases of medical abortion
4.  composition of Medical Board
  
Question Number : 185 Question Id : 97675522011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गभ� का िचिक� सीय समापन अिधिनयम, 1971 (2021 म� यथा संशोिधत) की धारा 5-A िकससे संबंिधत है?
Options :



1.  उस मिहला की िनजता के संर�ण से िजसका गभ� समा� कर िदया गया है।
2.  कुछ प�र��थितयो ंम� िचिक�ीय गभ�पात के िलए गभ�धारण की अविध म� वृ�� से।
3.  िचिक�ीय गभ�पात के कुछ मामलो ंम� दो िचिक�ा िवशेष�ो ंकी आव�कता से।
4.  िचिक� सा बोड� के गठन से।
  
Question Number : 186 Question Id : 97675522012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Provision for establishment of National Human Organs and Tissue Removal and Storage Network was made under Section _____ of the
Transplantation of Human Organs Act (as amended in 2011).
Options :
1.  13-A
2.  13-D
3.  19-A
4.  13-C
  
Question Number : 186 Question Id : 97675522012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
मानव अंग ��ारोपण अिधिनयम (2011 म� यथा संशोिधत) की धारा ______ के तहत रा�� ीय मानव अंग और ऊतक पृथ� करण और भंडारण नेटवक�  की �थापना
का �ावधान िकया गया है।
Options :
1.  13-A
2.  13-D
3.  19-A
4.  13-C
  
Question Number : 187 Question Id : 97675522013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Prohibition of advertisement relating to pre-natal determination of sex and punishment for contravention has been laid down in Section ____ of
the Pre- Conception and Pre-Natal Diagnostic Techniques Act, 1994.



Options :
1.  20
2.  21
3.  22
4.  19
  
Question Number : 187 Question Id : 97675522013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�सव पूव� िलंग िनधा�रण से संबंिधत िव�ापन पर �ितबंध और उ�ंघन के िलए दंड, गभ�धारण-पूव� और �सव पूव� िनदान तकनीक अिधिनयम, 1994 की धारा
______ म� िनधा��रत िकया गया है।
Options :
1.  20
2.  21
3.  22
4.  19
  
Question Number : 188 Question Id : 97675522014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following tests is conducted to detect arsenic in the body?
Options :
1.  Forensic test
2.  Cryptanalysis
3.  Marsh Test
4.  Adipose
  
Question Number : 188 Question Id : 97675522014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
शरीर म� आस��िनक का पता लगाने के िलए िन�िल�खत म� से कौन-सा परी�ण िकया जाता है?
Options :



1.  फोर��िसक परी�ण (Forensic test)
2.  ि�� िव�ेषण (Cryptanalysis)
3.  माश� परी�ण (Marsh Test)
4.  वसा परी�ण (Adipose)
  
Question Number : 189 Question Id : 97675522015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Dactylography is a scientific study of:
Options :
1.  blood analysis
2.  burns and scars
3.  fingerprints
4.  bodily deformities
  
Question Number : 189 Question Id : 97675522015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
डै��लो�ाफी (Dactylography) ______ का एक वै�ािनक अ�यन होता है।
Options :
1.  र� िव�ेषण
2.  जलन और �तिच�
3.  उंगिलयो ंके िनशान
4.  शारी�रक िवकृितयों
  
Question Number : 190 Question Id : 97675522016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the year 1910, ______ formulated the basic principles of forensic science.
Options :
1.  Henry Godhard



2.  Edmond Locard
3.  Sir Francis Caltan
4.  Edward Henry
  
Question Number : 190 Question Id : 97675522016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
वष� 1910 म�, ______ ने फोर��िसक िव�ान के मूल िस�ांत �ितपािदत िकए थे।
Options :
1.  हेनरी गोडाड�
2.  एडमंड लोकाड�
3.  सर �ांिसस कै� टन
4.  एडवड� हेनरी
  
Question Number : 191 Question Id : 97675522017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Deliberate splashing of acid in order to deface or kill a person is termed as _____________.
Options :
1.  vitriolage
2.  putrefaction
3.  occupational marks
4.  rigor mortis
  
Question Number : 191 Question Id : 97675522017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकसी ��� को िव�िपत करने या मारने के उ�े� य से जानबूझकर तेजाब के िछड़काव को ______ कहा जाता है।
Options :
1.  िविट� योलेज (vitriolage)
2.  पूितभवन (putrefaction)



3.  �ावसाियक िच� (occupational marks)
4.  मृ� युज कािठ� य (rigor mortis)
  
Question Number : 192 Question Id : 97675522018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The National Institute of Criminology and Forensic Science has been named in the honour of ______________.
Options :
1.  Sardar Vallabhbhai Patel
2.  Lok Nayak Jayaprakash Narayan
3.  Atal Bihari Vajpayee
4.  Deendayal Upadhyaya
  
Question Number : 192 Question Id : 97675522018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नेशनल इं�ी�ूट ऑफ ि�िमनोलॉजी एंड फॉर��िसक साइंस का नाम ______ के स�ान म� रखा गया है।
Options :
1.  सरदार व�भभाई पटेल
2.  लोक नायक जय�काश नारायण
3.  अटल िबहारी वाजपेयी
4.  दीनदयाल उपा�ाय
  
Question Number : 193 Question Id : 97675522019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘The matching of DNA samples is emerging as a vital tool for linking suspects to a specific criminal act. The taking and retention of DNA
samples which are in the nature of physical evidence do not face constitutional hurdle in the Indian context.’ 

In which of the following case, the Supreme Court of India made the given findings.
Options :
1.  Gautam Khandu vs. State of West Bengal and Anr-AIR 1993 SC 2295



2.  Surendra Koli vs. State of UP (2011) 7 SCC 80
3.  Madan Gopal Kakkad vs. Naval Dubey 1992 AIR SCW 1480
4.  Selvi vs State of Karnataka, (2010) 7 SCC 262
  
Question Number : 193 Question Id : 97675522019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
संिद�ो ंको एक िविश� आपरािधक कृ� से जोड़ने के िलए डीएनए नमूनो ंका िमलान एक मह�पूण� साधन के �प म� उभर रहा है। भौितक सा� की �कृित
वाले डीएनए नमूनो ंको लेने और बनाए रखने म� भारतीय संदभ� म� िकसी संवैधािनक बाधा का सामना नही ंकरना पड़ता है।'

िन�िल�खत म� से िकस मामले म�, भारत के उ� चतम �ायालय ने उ� त िन�ष� िदए ह�?
Options :
1.  गौतम खांडू बनाम पि�म बंगाल रा� और Anr-AIR 1993 SC 2295
2.  सुर�� कोली बनाम उ� तर �देश रा� (2011) 7 SCC 80
3.  मदन गोपाल क�ड़ बनाम नवल दुबे 1992 AIR SCW 1480
4.  से�ी बनाम कना�टक रा�, (2010) 7 SCC 262
  
Question Number : 194 Question Id : 97675522020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Interpretation of Statute, the doctrine of 'Pith and substance is generally invoked in the interpretation of ____________.
Options :
1.  constitutional Law
2.  penal Law
3.  revenue Law
4.  taxing Law
  
Question Number : 194 Question Id : 97675522020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



क़ानून के िनव�चन के संदभ� म�, ‘त� व और सार’ के िस�ांत को आम तौर पर ______ के िनव�चन म� लागू िकया जाता है।
Options :
1.  संवैधािनक िविध
2.  दांिडक िविध
3.  राज� िविध
4.  कर िविध
  
Question Number : 195 Question Id : 97675522021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Fundamental rules of pleading are enumerated in ________ of the Code of Civil Procedure, 1908.
Options :
1.  Order V Rule 3
2.  Order VI Rule 2
3.  Order VII Rule 1
4.  Order VIII Rule 3
  
Question Number : 195 Question Id : 97675522021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता, 1908 के ______ म� अिभवचन (pleading) के मौिलक िनयमो ंको विण�त िकया गया है।
Options :
1.  आदेश V िनयम 3
2.  आदेश VI िनयम 2
3.  आदेश VII िनयम 1
4.  आदेश VIII िनयम 3
  
Question Number : 196 Question Id : 97675522022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A Suit under Section 92 of the Code of Civil Procedure is a/an _______.



Options :
1.  Representative Suit
2.  Pauper Suit
3.  Interpleader Suit
4.  Suit for 'mesne profits'
  
Question Number : 196 Question Id : 97675522022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िसिवल �ि�या संिहता की धारा 92 के तहत वाद (Suit) एक ______ होता है।
Options :
1.  �ितिनिध वाद (Representative Suit)
2.  अिकंचन वाद (Pauper Suit)
3.  अंतरािभवाची वाद (Interpleader Suit)
4.  अंत:कालीन लाभ' के िलए वाद (Suit for 'mesne profits')
  
Question Number : 197 Question Id : 97675522023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जब एक �ावधान के दो िनमा�ण संभव ह�, एक जो �ावधान को �भावी बनाता है और दूसरा �ावधान को िन��य कर देता है, अ�किथत जो �ावधान को �भावी
बनाता है उसे अपनाया जाता है और प� चा� किथत को �ाग िदया जाता है।'

संिविध के िनवच�न के संदभ� म�, िन�िल�खत म� से कौन-सा नीितवचन िदए गए कथन पर लागू होता है?
Options :
1.  साहचय�ण �ायते (Noscitur a sociis)
2.  सजाित िनयम (Ejusdem generis)
3.  अमा� य से मा� य करना अ� छा है (Ut res magis valeat quam perate)
4.  �ितदान का िस�ांत (Reddendo Sinula Singulis)
  
Question Number : 197 Question Id : 97675522023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘When two constructions of a provision are possible, one which gives effect to the provision and other render the provision inoperative, the
former which give effect to the provision be adopted and later is discarded.’

With reference to Interpretation of Statute, which of the following maxim is applicable to the given statement?
Options :
1.  Noscitur a sociis
2.  Ejusdem generis
3.  Ut res magis valeat quam perate
4.  Reddendo Sinula Singulis
  
Question Number : 198 Question Id : 97675522024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the proposed Cryptocurrency and Regulation of Official Digital Currency Bill, 2019, there is no provision for:
Options :
1.  making cryptocurrencies as legal tender
2.  the banning of private cryptocurrencies
3.  the issuance of Central government digital currency
4.  the promotion of underlying technology of cryptocurrencies (Blockchain )
  
Question Number : 198 Question Id : 97675522024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
��ािवत ि��ोकर�सी और आिधका�रक िडिजटल मु�ा िविनयमन िवधेयक, 2019 म�, ______ के िलए कोई �ावधान नही ंहै।
Options :
1.  ि��ोकर�सी को वैध मु�ा बनाने
2.  िनजी ि��ोकर�सी पर �ितबंध
3.  क� � सरकार की िडिजटल मु�ा जारी करने
4.  ि��ोकर�सी की अंतिन�िहत तकनीक के संवध�न (�ॉकचैन)



  
Question Number : 199 Question Id : 97675522025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
With reference to Personal Data Protection Bill, 2018, read the following statements and select the correct option:

A. Right to be forgotten is proposed in the Bill

B. Sensitive personal data inter alia include health data
Options :
1.  A is correct but B is not correct
2.  B is correct but A is not correct
3.  Both A and B are correct
4.  Both A and B are not correct
  
Question Number : 199 Question Id : 97675522025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
���गत डेटा संर�ण िवधेयक, 2018 के संदभ� म�, िन�िल�खत कथनो ंको पिढ़ए और सही िवक� का चयन कीिजए:

A. भूल जाने का अिधकार िवधेयक म� ��ािवत है। 

B. संवेदनशील ���गत डेटा म� अ� बातो ंके साथ-साथ �ा� डेटा शािमल है। 
Options :
1.  A सही है लेिकन B सही नही ंहै।
2.  B सही है लेिकन A सही नही ंहै।
3.  A और B दोनो ंसही ह�।
4.  A और B दोनो ंसही नही ंह�।
  
Question Number : 200 Question Id : 97675522026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following was approved by the Reserve Bank of India in November 2019?
Options :
1.  Regulatory sandbox for blockchain technology applications
2.  Regulatory sandbox for the use of artificial intelligence
3.  Regulatory sandbox for fintech
4.  Regulatory Sandbox for machine learning
  
Question Number : 200 Question Id : 97675522026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकसे नवंबर 2019 म� भारतीय �रज़व� ब�क �ारा अनुमोिदत िकया गया था?
Options :
1.  �ॉकचेन �ौ�ोिगकी अनु�योगो ंके िलए िनयामक स�डबॉ�
2.  कृि�म बु�� के उपयोग के िलए िनयामक स�डबॉ�
3.  िफनटेक के िलए िनयामक स�डबॉ�
4.  मशीन िश�ण के िलए िनयामक स�डबॉ�


